
MATHS

BOOKS - VGS BRILLIANT MATHS (TELUGU ENGLISH)

PROGRESSIONS

Examples

1. For the AP: , .........., write the first term a and the

common difference d. And find teh  term.

Watch Video Solution

, , ,
1

4

−1

4

−3

4

−5

5

7th

2. Which of the following forms an AP? If they form AP, then write next

two terms. 

(i) 4,10 ,16,22 .....

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MvHQ2K8RG4n3
https://dl.doubtnut.com/l/_mPy5y0JGB5DQ


Watch Video Solution

3. Which of the following forms an AP? If they form AP, then write next

two terms. 

(ii) 

Watch Video Solution

1, − 1, − 3, − 5, .......... .

4. Which of the following forms an AP? If they form AP, then write next

two terms. 

(iii) 

Watch Video Solution

−2, 2, − 2, 2, − 2, .......... .

5. Which of the following forms an AP? If they form AP, then write next

two terms. 

(iii) 

Watch Video Solution

1, 1, 1, 2, 2, 2, 3, 3, 3, ....... .

https://dl.doubtnut.com/l/_mPy5y0JGB5DQ
https://dl.doubtnut.com/l/_EpTfNnwaS7pT
https://dl.doubtnut.com/l/_pGJ4lPKmScme
https://dl.doubtnut.com/l/_fxHO4p5YlkPX


6. Which of the following forms an AP? If they form AP, then write next

two terms. 

(v) 

Watch Video Solution

x, 2x, 3x, 4x, .......... .

7. Find the  term of the AP: 5,1,-3,-7 .......

Watch Video Solution

10th

8. Which term of the AP: 21,18,15, ...... Is -81? Is there any term 0? Give

reason for your answer.

Watch Video Solution

9. Determine the AP whose  term is 5 and the  term is 9.3rd 7th

https://dl.doubtnut.com/l/_fxHO4p5YlkPX
https://dl.doubtnut.com/l/_AaIXMSLhoB1R
https://dl.doubtnut.com/l/_n4dG9zMmV5el
https://dl.doubtnut.com/l/_4lJMZdudRu5d
https://dl.doubtnut.com/l/_Uspz2JYiT4mZ


Watch Video Solution

10. Check wether 301 is a term of the list of numbers 5, 11, 17, 23, .....

Watch Video Solution

11. How many two-digit numbers are divisible by 3?

Watch Video Solution

12. Find the  term from the last of the A.P series given below: 


A.P : 10, 7, 4, ......, -62

Watch Video Solution

11th

13. A sum of Rs. 1000 is invested at 8% simple interest per year. Calculate

the interest at the end of each year. Do these interests form a AP? If so,

https://dl.doubtnut.com/l/_Uspz2JYiT4mZ
https://dl.doubtnut.com/l/_GVNNnkwcrRqW
https://dl.doubtnut.com/l/_nO0e2BSSnAQq
https://dl.doubtnut.com/l/_2I3S5rZvtltR
https://dl.doubtnut.com/l/_hdfFXZ9NAsjB


find the interest at the end of 30 years.

Watch Video Solution

14. If a flower bed, there are 23 rose plants in the first row, 21 in the

second, 19 in the third, and so on. There are 5 rose plants in the last row.

How many rows are there in the flower bed?

Watch Video Solution

15. If the sum of the first 14 terms of an AP is 1050 and its first term is 10,

find the  term.

Watch Video Solution

20th

16. How many terms of the AP : 24, 21, 18 .... . Must be taken so that their

sum is 78 ?

Watch Video Solution

https://dl.doubtnut.com/l/_hdfFXZ9NAsjB
https://dl.doubtnut.com/l/_dfrMMF8ivcLU
https://dl.doubtnut.com/l/_4u4hyqL98f4i
https://dl.doubtnut.com/l/_1P9gb0d68QKa


17. Find the sum of : 

(i) The first 1000 positive intergers .

Watch Video Solution

18. Find the sum of : 

(ii) the first n positive intergers .

Watch Video Solution

19. Find the sum of first 24 terms of the list of numbers whose  terms

is given by  


(A). 672

(B). 682

(C).627 

(D).0

Watch Video Solution

nth

an = 3 + 2n

https://dl.doubtnut.com/l/_1P9gb0d68QKa
https://dl.doubtnut.com/l/_QvS5lX6m8aGa
https://dl.doubtnut.com/l/_BEPRkASqXPfp
https://dl.doubtnut.com/l/_uCo413tgt96t


Watch Video Solution

20. A manufacturer of TV sets produced 600 sets in the third year and

700 sets in the seventh year. Assuming that the production increase

unifformaly by a fixed number evergy year, find : 

(i) the production in the  year.

Watch Video Solution

1st

21. A manufacturer of TV sets produced 600 sets in the third year and 700

sets in the seventh year. Assuming that the production increase

unifformaly by a fixed number evergy year, find : 

(ii) the production in the  year.

Watch Video Solution

10th

22. A manufacturer of TV sets produced 600 sets in the third year and 700

sets in the seventh year. Assuming that the production increase

https://dl.doubtnut.com/l/_uCo413tgt96t
https://dl.doubtnut.com/l/_E8Wv0X7ZyuWd
https://dl.doubtnut.com/l/_8QHqGHvZT8Hh
https://dl.doubtnut.com/l/_n2IRTiH4razZ


unifformaly by a fixed number evergy year, find : 

(iii) the total production in first 7 years

Watch Video Solution

23. Write the G.P. If the first term a=3, and the common ratio r= 2.

Watch Video Solution

24. Write G.P. If .

Watch Video Solution

a = 256, r =
−1

2

25. Find the common ratio of the G.P. 

.

Watch Video Solution

25, − 5, 1,
−1

5

https://dl.doubtnut.com/l/_n2IRTiH4razZ
https://dl.doubtnut.com/l/_ZhkYPQjvFXmj
https://dl.doubtnut.com/l/_q5MMmZStyTVN
https://dl.doubtnut.com/l/_8Zxhq2yokdcQ


26. Which of the following list of number form G.P. ? 

(i) 3, 6, 12, ......

Watch Video Solution

27. Which of the following list of number form G.P. ? 

(ii) 64, -32, 16, ......

Watch Video Solution

28. Which of the following list of number form G.P. ? 

(iii) , .......

Watch Video Solution

, ,
1

64

1

32

1

8

29. Find the  and  term of the G.P. 


,.......

20th nth

, ,
5

2

5

4

5

8

https://dl.doubtnut.com/l/_y9pRn5lsYP21
https://dl.doubtnut.com/l/_5bf1S6rHe8AN
https://dl.doubtnut.com/l/_JP6Un9GAgTtt
https://dl.doubtnut.com/l/_dfSXW2NZNpEw


Do These

Watch Video Solution

30. Which term of the G.P. 

, ..... Is 128?

Watch Video Solution

2, 2√2, 4

31. In a GP the  term is 24 and  term is 192. find the  term.

Watch Video Solution

3rd 6th 10th

1. Write three examples for finite A.P and three for infinite A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_dfSXW2NZNpEw
https://dl.doubtnut.com/l/_u7DroekGd7gS
https://dl.doubtnut.com/l/_vjQfDnoKGr4s
https://dl.doubtnut.com/l/_omtMmPuFiLmn


2. Take any Arithmetic progression.

Watch Video Solution

3. Add a fixed number to each and every term of A.P. Wrtie the resulting

numbers as a list.

Watch Video Solution

4. Similarly subtract a fixed number from each and every term of A.P. Write

the resulting numbers as a list.

Watch Video Solution

5. Multiply and divide each term of A.P. by a fixed number and write the

resulting numbers as a list.

Watch Video Solution

https://dl.doubtnut.com/l/_fZTcvNrKxnfy
https://dl.doubtnut.com/l/_43wCeE9lozum
https://dl.doubtnut.com/l/_hDOSS2apPyhh
https://dl.doubtnut.com/l/_YM97G6GHoF3G


6. 5,x,10 are in G.P then x=

Watch Video Solution

7. 8,x,10 are in G.P then x=

Watch Video Solution

8. Find the sum of indicated number of terms in each of the following

A.Ps. 

(i) 16, 11, 6, ......, 23 terms.

Watch Video Solution

9. Find the sum of indicated number of terms in each of the following

A.Ps. 

https://dl.doubtnut.com/l/_YM97G6GHoF3G
https://dl.doubtnut.com/l/_9q253cYyOKKV
https://dl.doubtnut.com/l/_yJ8NVaOZvDfd
https://dl.doubtnut.com/l/_oPGRfpRDCQPs
https://dl.doubtnut.com/l/_JTmddgn8pryS


(ii)  ....., 10 terms.

Watch Video Solution

−0.5, − 1.0, − 1.5,

10. Find the sum of indicated number of terms in each of the following

A.Ps. 

(iii)  terms.

Watch Video Solution

−1, , , ....10
1

4

3

2

11. Find which of the following are not G.P. 

(i) 6,12, 24, 48, ......

Watch Video Solution

12. Find which of the following are not G.P. 

(ii) 1,4,9,16,.....

Watch Video Solution

https://dl.doubtnut.com/l/_JTmddgn8pryS
https://dl.doubtnut.com/l/_akJtTOmf6JgW
https://dl.doubtnut.com/l/_1lAtN9ldtlUE
https://dl.doubtnut.com/l/_SkVxAEkeTaCC


Try These

13. Find which of the following are not G.P. 

(iii) 1, -1, 1, -1,......

Watch Video Solution

14. Find which of the following are not G.P. 

(iv) 

Watch Video Solution

−4, − 20, − 100, − 500, ......

1. Which of these are arithmetic progressions and why? 

(i) 2,3,5,7,8,10,15, ......

Watch Video Solution

https://dl.doubtnut.com/l/_SkVxAEkeTaCC
https://dl.doubtnut.com/l/_d4VsVIBsZC2s
https://dl.doubtnut.com/l/_shTUkBFoVurD
https://dl.doubtnut.com/l/_PALOG8IAPOLR
https://dl.doubtnut.com/l/_HxpcbAfkmVcD


Think And Discuss

2. Which of these are arithmetic progressions and why? 

(ii) 2,5,7,0,12,15,....

Watch Video Solution

3. Which of these are arithmetic progressions and why? 

(iii) .......

Watch Video Solution

−1, − 3, − 5, − 7,

4. Write 3 more Arithmetic Progressions.

Watch Video Solution

1. Think how each of the list given above form an A.P. Discuss with your

friends. 

https://dl.doubtnut.com/l/_HxpcbAfkmVcD
https://dl.doubtnut.com/l/_UI0KjgyG1TkF
https://dl.doubtnut.com/l/_GczwV6fMCXXY
https://dl.doubtnut.com/l/_iMsdIOH39fMk


(a) Heights (in cm) of some students of a school standing in a queue in

the morning assembly are 

147, 148, 149,......,157

Watch Video Solution

2. Think how each of the list given above form an A.P. Discuss with your

friends. 

(b) Minimum temperatures (in degree celcius) recorded for a week, in the

month of January in a city, arranged in assending order are 

Watch Video Solution

−3.1, − 3.0, − 2.9, − 2.8, − 2.7, − 2.6, − 2.5

3. Think how each of the list given above form an A.P. Discuss with your

friends. 

(c) The balance money (in Rs.) after paying 5% of the total loan of Rs.

1000 every month is 

https://dl.doubtnut.com/l/_iMsdIOH39fMk
https://dl.doubtnut.com/l/_5KTJcqEgQW0q
https://dl.doubtnut.com/l/_9fPiSop4ppPb


950, 900, 850, 800, ....,50

Watch Video Solution

4. Think how each of the list given above form an A.P. Discuss with your

friends. 

(d) Cash prizes (in Rs.) given by a school to the toppers of classes I to XII

are 200, 250, 300, 350,.......,750 respectively.

Watch Video Solution

5. Think how each of the list given above form an A.P. Discuss with your

friends. 

(e) Total savings (in Rs.) after every month for 10 month when Rs. 50 are

saved each month are 50, 100, 150, 200, 250, 300, 350, 400,450,500.

Watch Video Solution

https://dl.doubtnut.com/l/_9fPiSop4ppPb
https://dl.doubtnut.com/l/_ejtGwv1yf09v
https://dl.doubtnut.com/l/_mIXsxBXAf4FL
https://dl.doubtnut.com/l/_UqEnpKXlqhKX


6. 5,x,10 are in A.P then x=

Watch Video Solution

7. Make a positive Arithmetic Progression in which the common difference

is a small positive quantity.

Watch Video Solution

8. Make an A.P. in which the common difference is big (large) positive

quantity.

Watch Video Solution

9. Make an A.P. in which the common difference is negative.

Watch Video Solution

https://dl.doubtnut.com/l/_UqEnpKXlqhKX
https://dl.doubtnut.com/l/_ekb0gS8tQX4s
https://dl.doubtnut.com/l/_gRICU3ORCiPR
https://dl.doubtnut.com/l/_oUUkUiAAHrr6
https://dl.doubtnut.com/l/_HDVhHPFFHG2D


10. Explain why each of the lists above is a G.P. 

(i) 1, 4, 16, 64, 256,.......

Watch Video Solution

11. Explain why each of the lists above is a G.P. 

(ii) 550, 605, 665.5, .......

Watch Video Solution

12. Explain why each of the lists above is a G.P. 

(iii) 256, 128, 64,32,......

Watch Video Solution

13. Explain why each of the lists above is a G.P. 

(iv) 18, 16.2, 14.58, 13.122 ......

Watch Video Solution

https://dl.doubtnut.com/l/_HDVhHPFFHG2D
https://dl.doubtnut.com/l/_nb0OoHGoL21j
https://dl.doubtnut.com/l/_5H16k4cNVHdx
https://dl.doubtnut.com/l/_JQ9WbwLj1ihs


Exercise 6 1

14. To know about a G.P. What is minimum information that we need?

Watch Video Solution

1. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(i) The taxi fare after each km when the fare si Rs. 20 for the first km and

rises by Rs. 8 for each additional km.

Watch Video Solution

2. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

https://dl.doubtnut.com/l/_JQ9WbwLj1ihs
https://dl.doubtnut.com/l/_TCs63t6KmnDb
https://dl.doubtnut.com/l/_njrppPmYSEtd
https://dl.doubtnut.com/l/_1otE9pd8diFX


(ii) The amount of air present in a cylinder when a vacuum pump removes

 of the air remaining in the cylinder at a time.

Watch Video Solution

1/4th

3. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(iii) The cost of digging a well, after every metre of digging, when it costs

Rs. 150 for the first metre and rises by Rs. 50 for each subsequent metre.

Watch Video Solution

4. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(iv) The amount of money in the account every year, when Rs. 10000 is

deposited at compound intrest at  per annum.

Watch Video Solution

8 %

https://dl.doubtnut.com/l/_1otE9pd8diFX
https://dl.doubtnut.com/l/_guxXYCDZ5rHl
https://dl.doubtnut.com/l/_BFQTNP4zDzIF
https://dl.doubtnut.com/l/_hbRKC9eucsrK


5. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(i) a = 10, d = 12.

Watch Video Solution

6. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(ii) a = -2 , d = 0.

Watch Video Solution

7. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(iii) a = 4, d = -3.

Watch Video Solution

https://dl.doubtnut.com/l/_hbRKC9eucsrK
https://dl.doubtnut.com/l/_nEhERerXRXln
https://dl.doubtnut.com/l/_hNoYJkjbFirZ


8. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(iv) a = -1, d = .

Watch Video Solution

1

2

9. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(v) a = -1.25, d = -0.25.

Watch Video Solution

10. For the following A.Ps, write the first term and the common difference:

(i) 3,1,-1,-3,…..

Watch Video Solution

https://dl.doubtnut.com/l/_USZCu0JALRYh
https://dl.doubtnut.com/l/_F2BRnphSJmVk
https://dl.doubtnut.com/l/_gCLigYcFJTC5


11. For the following A.Ps, write the first term and the common difference: 

(ii) -5,-1,3,7,…..

Watch Video Solution

12. For the following A.Ps, write the first term and the common difference:

(iii) 

Watch Video Solution

, , , ….
1

3

5

3

9

3

13

3

13. For the following A.Ps, write the first term and the common difference:

(iv) 0.6, 1.7, 2.8,3.9,…..

Watch Video Solution

14. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

https://dl.doubtnut.com/l/_DEvlLZbeFHU2
https://dl.doubtnut.com/l/_HmpDEAuMv6Cq
https://dl.doubtnut.com/l/_s983BRkd14X2
https://dl.doubtnut.com/l/_8FuFdOoZXhtd


(i) 2,4,8,16,……

Watch Video Solution

15. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(ii) 

Watch Video Solution

2, , 3, , …….
5

2
7
2

16. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(iii) 

Watch Video Solution

−1.2, − 3.2, − 5.2, − 7.2, …. .

17. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

https://dl.doubtnut.com/l/_8FuFdOoZXhtd
https://dl.doubtnut.com/l/_7Ko4tJlUW7QP
https://dl.doubtnut.com/l/_RULM3giK9Gn6
https://dl.doubtnut.com/l/_LOTchDe2xS84


(iv) 

Watch Video Solution

−10, − 6, − 2, 2, …….

18. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(v) 

Watch Video Solution

3, 3 + √2, 3 + 2√2, 3 + 3√2……

19. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(vi) 

Watch Video Solution

0.2, 0.22, 0.222, 0.2222, …….

20. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

https://dl.doubtnut.com/l/_LOTchDe2xS84
https://dl.doubtnut.com/l/_Us5LgRrxHtdH
https://dl.doubtnut.com/l/_2sVIe2zRwqT9
https://dl.doubtnut.com/l/_zRCjjlNNpDkR


(vii) 

Watch Video Solution

0, − 4, − 8, − 12, …….

21. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(viii) 

Watch Video Solution

− , − , − , − , ……. .
1

2

1

2

1

2

1

2

22. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(ix) 1,3,9,27,……..

Watch Video Solution

23. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

https://dl.doubtnut.com/l/_zRCjjlNNpDkR
https://dl.doubtnut.com/l/_R1vq55UovFnc
https://dl.doubtnut.com/l/_QJwoLftw55Bk
https://dl.doubtnut.com/l/_JjDhEAyJul8q


(x) 

Watch Video Solution

a, 2a, 3a, 4a, ……. .

24. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(xi) 

Watch Video Solution

a, a2, a3, a4, …….

25. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(xii) 

Watch Video Solution

√2, √8, √18, √32, …….

26. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

https://dl.doubtnut.com/l/_JjDhEAyJul8q
https://dl.doubtnut.com/l/_11QgYf0NgFjP
https://dl.doubtnut.com/l/_JKeZNIvYbP8U
https://dl.doubtnut.com/l/_7W3gXRI8J6gk


Exercise 6 2

(xiii) 

Watch Video Solution

√3, √6, √9, √12, ………

1. For the following A.Ps, write the first term and the common difference:

(i) 6,2,-2,-6,…..

Watch Video Solution

2. Find the 

(i)  term of the A.P. : 10,7,4, ……

Watch Video Solution

30th

3. Find the 

(ii)  term of the A.P. : 11th −3, , 2, …….
−1

2

https://dl.doubtnut.com/l/_7W3gXRI8J6gk
https://dl.doubtnut.com/l/_yRmvBL3ttk5i
https://dl.doubtnut.com/l/_CoOawsT1czGU
https://dl.doubtnut.com/l/_Hn8eZqKVDk6J


Watch Video Solution

4. Find the respective terms for the following lowing Aps. 

(i)  , find .

Watch Video Solution

a1 = 2, a3 = 26 a2

5. Find the respective terms for the following lowing Aps. 

(ii) , find .

Watch Video Solution

a2 = 13, a4 = 26 a1, a3

6. Find the respective terms for the following lowing Aps. 

(iii) , find .

Watch Video Solution

a1 = 5, a4 = 9
1

2
a2, a3

https://dl.doubtnut.com/l/_Hn8eZqKVDk6J
https://dl.doubtnut.com/l/_szcf7j7jScrP
https://dl.doubtnut.com/l/_8ePxLydpjapI
https://dl.doubtnut.com/l/_84htt5Dy7sDU


7. Find the respective terms for the following lowing Aps. 

(iv) , find .

Watch Video Solution

a1 = − 4, a6 = 6 a2, a3, a4, a5

8. Find the respective terms for the following lowing Aps. 

(v) , find .

Watch Video Solution

a2 = 38, a6 = − 22 a1, a3, a4, a5

9. Which term of the AP: 

3,8,13,18,……, is 78 ?

Watch Video Solution

10. Find the number of terms in the following A.P. 

7, 13, 19, …. .205

https://dl.doubtnut.com/l/_Y5lf022C8oHG
https://dl.doubtnut.com/l/_SlXEyY1nMDTE
https://dl.doubtnut.com/l/_NP5vbwshPoIG
https://dl.doubtnut.com/l/_giLogIFs7F7D


Watch Video Solution

11. Find the number of terms in each of the following Aps : 

(ii) 

Watch Video Solution

18, 15 , 13, …. , − 47
1

2

12. Check whether,  is a term of the AP: 11,8,5,2,…..

Watch Video Solution

−150

13. Find the  term of an A.P. whose  term is 38 and the  term is

73.

Watch Video Solution

31th 11th 16th

https://dl.doubtnut.com/l/_giLogIFs7F7D
https://dl.doubtnut.com/l/_JNPtEHz3qgGx
https://dl.doubtnut.com/l/_2fX25DKdqgs6
https://dl.doubtnut.com/l/_mlf0jNetvcWP


14. If the  and the  terms of an A.P are 4 and -8 respectively, which

term of this A.P is zero?

Watch Video Solution

3rd 9th

15. The  term of an A.P exceeds its  term by 7. find the common

difference.

Watch Video Solution

17th 10th

16. Two APs have the same common difference. The difference between

their  terms is 100, what is the difference between their  terms

?

Watch Video Solution

100th 1000th

17. How many three-digit numbers are divisible by 7 ?

https://dl.doubtnut.com/l/_FfFDSEaGLKZ4
https://dl.doubtnut.com/l/_nIH6F2srUKsr
https://dl.doubtnut.com/l/_6Ir99vfSkZfC
https://dl.doubtnut.com/l/_PijfhcYwF6gS


Watch Video Solution

18. How many mulitiples of 4 lie between 10 and 250?

Watch Video Solution

19. For what value of n, are the  terms of two Aps : 63, 65,67, …. and 3,

10, 17, …… equal?

Watch Video Solution

nth

20. Determine the AP whose third term is 16 and the  term exceeds the 

 term by 12.

Watch Video Solution

7th

5th

21. Find the  term from the end of the AP : 3, 8 , 13, …..253.

W h Vid S l i

20th

https://dl.doubtnut.com/l/_PijfhcYwF6gS
https://dl.doubtnut.com/l/_nMK63wBphj0F
https://dl.doubtnut.com/l/_vTyTw2DzUPiq
https://dl.doubtnut.com/l/_wbAsfyMrysYm
https://dl.doubtnut.com/l/_N8ez2chiVJxU


Exercise 6 3

Watch Video Solution

22. The sum of the  and  terms of an AP is 24 and the sum of the 

and  terms is 44. find the first three terms of the AP.

Watch Video Solution

4th 8th 6th

10th

23. Subba Rao started work in 1995 at an annual salary of Rs. 5000 and

recived and increment of Rs. 200 each year. In which year did his income

reach Rs. 7000 ?

Watch Video Solution

1. Find the sum of the following APs. 

(i) 2,7,12,……., to 10 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_N8ez2chiVJxU
https://dl.doubtnut.com/l/_lFSC9bt6mwfN
https://dl.doubtnut.com/l/_wfnzSXh1qHkq
https://dl.doubtnut.com/l/_hFhAGsoUjSZr


2. Find the sum of the following APs. 

(ii) -37 , -33, -29,……., to 12 term.

Watch Video Solution

3. Find the sum of the following APs. 

(iii) 0.6, 1.7, 2.8, ………. to 100 terms.

Watch Video Solution

4. Find the sum of the following APs. 

(iv) ……, ot 11 terms.

Watch Video Solution

, , ,
1

15

1

12

1

10

https://dl.doubtnut.com/l/_hFhAGsoUjSZr
https://dl.doubtnut.com/l/_retInjzkWYRs
https://dl.doubtnut.com/l/_Pwf72GXl9Htq
https://dl.doubtnut.com/l/_h6uFTlxA84xS


5. Find the sums given below: 

(i) .

Watch Video Solution

7 + 10 + 14 + ……. + 84
1

2

6. Find the sums given below: 

(ii) .

Watch Video Solution

34 + 32 + 30 + …. + 10

7. Find the sums given below: 

(iii) 

Watch Video Solution

−5 + ( − 8) + ( − 11) + …… + ( − 230)

8. In an AP: 

(i) Given , find n and .a = 5, d = 3, an = 50 Sn

https://dl.doubtnut.com/l/_JFAsUFdliNEB
https://dl.doubtnut.com/l/_6kGw0UDSWM5w
https://dl.doubtnut.com/l/_bEkQF84DQ2jS
https://dl.doubtnut.com/l/_ynsqF2I0Qw7U


Watch Video Solution

9. In an AP: 

(ii) Given , find d and .

Watch Video Solution

a = 7, a13 = 35 S13

10. In an AP: 

(iii) Given , find a and .

Watch Video Solution

a12 = 37, d = 3 S12

11. In an AP: 

(iv) Given , find d and .

Watch Video Solution

a3 = 15, S10 = 125 a10

https://dl.doubtnut.com/l/_ynsqF2I0Qw7U
https://dl.doubtnut.com/l/_DqT8z3fmAKrI
https://dl.doubtnut.com/l/_mMD4oqmeffpO
https://dl.doubtnut.com/l/_74OoKXgharfJ


12. In an AP: 

(v) Given , find n and .

Watch Video Solution

a = 2, d = 8, Sn = 90 an

13. In an AP: 

(vi) Given , find n and a.

Watch Video Solution

an = 4, d = 2, Sn = − 14

14. In an AP: 

(vii) Given , and there are total 9 terms. Find a.

Watch Video Solution

l = 28, S = 144

15. The first and the last terms of an A.P. are 17 and 350 respectively. If the

common difference is 9, how many terms are there and what is their sum?

https://dl.doubtnut.com/l/_NtHFNeaGZQJx
https://dl.doubtnut.com/l/_kn6sFLojrhge
https://dl.doubtnut.com/l/_sSsf0DXOFQcI
https://dl.doubtnut.com/l/_9RGBPx6z6Y23


Watch Video Solution

16. Find the sum of first 51 terms of an AP whose second and third terms

are 14 and 18 respectively.

Watch Video Solution

17. If the sum of first 7 terms of an AP is 49 and that of 17 terms is 289,

find the sum of first n terms.

Watch Video Solution

18. Show that  form an AP where  is defined as

below: 

(i) . Also find the sum of the first 15 terms in each case.

Watch Video Solution

a1, a2, ……. . , an…. . an

an = 3 + 4n

https://dl.doubtnut.com/l/_9RGBPx6z6Y23
https://dl.doubtnut.com/l/_hW69okqFwYl2
https://dl.doubtnut.com/l/_hj9gKCKOuzWI
https://dl.doubtnut.com/l/_2sipn1ycyV5t
https://dl.doubtnut.com/l/_18Xr5xLj4BNL


19. Show that ,……, …. Form an AP where  is defined as below: 


(i) , (ii)  

Also find the sum of the first 15 terms in each case.

Watch Video Solution

a1, a2 an an

an = 3 + 4n an = 9 − 5n

20. If the sum of the first n terms of an AP is  , what is the first

term (remember the first term is )? What is the sum of first two terms?

What is the second term? Similarly, find the , the  and the 

terms.

Watch Video Solution

4n − n2

S1

3rd 10th nth

21. Find the sum of the first 40 positive intergers divisible by 6.

Watch Video Solution

https://dl.doubtnut.com/l/_18Xr5xLj4BNL
https://dl.doubtnut.com/l/_wgVhamBqhb3E
https://dl.doubtnut.com/l/_jTAS0x2nFAIC


22. A sum of Rs. 700 is to be used to give seven cash prizes to students of

a school for their overall academic performance. If each prize is Rs. 20 less

than its preceding prize. Find the value of each of prizes.

Watch Video Solution

23. In a school, students thought of planting trees in an around the

school to reduce air pollution. It was decided that the number of trees,

that each section of each class will plant, will be the same as the class. In

which they are studying e.g., a section of Class I will plant 1 tree, a section

of Class II will plant 2 trees and so on till Class XII. There are three

sections of each class. How many trees will be planted by the students?

Watch Video Solution

24. A sprial is made up of successive semicircles, with centres alternately

at A and B, starting with centre at A, of radii 0.5 cm, 1.0 cm, 1.5 cm , 2.0 cm,

….. As shown in figure. What is the total length of such a spiral made up of

https://dl.doubtnut.com/l/_4SKITk3MJ8xN
https://dl.doubtnut.com/l/_1ozMWBTBp6kD
https://dl.doubtnut.com/l/_z46WNubvebiA


thirteen consecutive semicircles? (Take ) 


[Hint : Length of successive semicircles is ...... with centres at

A, B,A,B, ....., respectively.] 

Watch Video Solution

π =
22

7

l1, l2, l3, l4,

25. 200 logs are stacked in the following manner : 20 logs in the bottom

row, 19 in the next row, 18 in the row next to it and so on. In how many

rows are the 200 logs placed and how many logs are in the top row ?

Watch Video Solution

26. In a bucket and ball race, a bucket is placed at the starting point.

Which is 5m from the first ball, and other balls are placed 3m apart in a

straight line. There are ten balls in the line. 

 

A competitor starts from the bucket, picks up the nearest ball, runs back

with it, drops it in the bucket, runs back to pick up the next ball, runs to

https://dl.doubtnut.com/l/_z46WNubvebiA
https://dl.doubtnut.com/l/_F8hzFU6TpJ4k
https://dl.doubtnut.com/l/_csvNello9pou


Exercise 6 4

the bucket to drop it in, and she continues in the same way until all the

balls are in the bucket. What is the total distance the competitor has to

run? 

[ Hint: To pick up the second ball, the total distance (in metres) run by a

competitor is ]

Watch Video Solution

2 × 5 + 2 × (5 + 3)

1. In which of the following situations, does the list of numbers involved

in the form a G.P.? 

(i) Salary of Sharmila, when her salary is Rs. 5,00,000 for the first year and

expected to receive yearly increase of 10%.

Watch Video Solution

https://dl.doubtnut.com/l/_csvNello9pou
https://dl.doubtnut.com/l/_YaIFwDginbWZ


2. In which of the following situations, does the list of numbers involved

in the form a G.P.? 

(ii) Number of bricks needed to make each step, if the stair case has total

30 steps. Bottom step needs 100 bricks and each successive step needs 2

bricks less than the previous step.

Watch Video Solution

3. In which of the following situations, does the list of numbers involved

in the form a G.P.? 

(iii) Perimeter of the each triangle , when the mid-points of sides of an

equilateral triangle whose side is 24 cm are joined to form another

triangle, whose mid-point in turn are joined to form still another triangle

and the process continues indefinitely. 

Watch Video Solution

https://dl.doubtnut.com/l/_CKrpS8OaGu5r
https://dl.doubtnut.com/l/_nbCUmVPMMNoL


4. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(i) a = 4, r = 3

Watch Video Solution

5. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(ii) .

Watch Video Solution

a = √5, r =
1

5

6. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(iii) .

Watch Video Solution

a = 81, r = −
1

3

https://dl.doubtnut.com/l/_KeKWAzvcKMVV
https://dl.doubtnut.com/l/_wYLYhKluC0VB
https://dl.doubtnut.com/l/_BN1nqS9cvkhg
https://dl.doubtnut.com/l/_NTapMPV2dOYi


7. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(iv) .

Watch Video Solution

a = , r = 2
1

64

8. Which of the following are G.P.? If they are G.P., write three more terms. 

(i) 4,8,16,….

Watch Video Solution

9. Which of the following are G.P.? If they are G.P., write three more terms. 

(ii) 

Watch Video Solution

, , , …….
1

3

−1

6

1

12

10. Which of the following are G.P.? If they are G.P., write three more terms.

(iii) 5, 55, 555, ……. .

https://dl.doubtnut.com/l/_NTapMPV2dOYi
https://dl.doubtnut.com/l/_9vUA2JyHYc0z
https://dl.doubtnut.com/l/_25PUhLYR1L4g
https://dl.doubtnut.com/l/_DzN9qrubChIW


Watch Video Solution

11. Which of the following are G.P.? If they are G.P., write three more terms.

(iv) 

Watch Video Solution

−2, − 6, − 18, ………

12. Which of the following are G.P.? If they are G.P., write three more terms.

(v) ,…..

Watch Video Solution

, ,
1

2

1

4

1

6

13. Which of the following are G.P.? If they are G.P., write three more terms.

(vi) ,…….

Watch Video Solution

3, − 32, 33

https://dl.doubtnut.com/l/_DzN9qrubChIW
https://dl.doubtnut.com/l/_bSfIqWQWrNmV
https://dl.doubtnut.com/l/_Za86SHkdfWMd
https://dl.doubtnut.com/l/_0lynMYp8ooVO


14. Which of the following are G.P.? If they are G.P., write three more terms.

(vii) 

Watch Video Solution

X, 1, , …. .
1

X

15. Which of the following are G.P.? If they are G.P., write three more terms.

(viii) , ……

Watch Video Solution

, − 2,
1

√2

8

√2

16. Which of the following are G.P.? If they are G.P., write three more terms.

(ix) 

Watch Video Solution

0.4, 0.04, 0.004, ……….

17. Find x so that  are consecutive terms of a geometric

progression.

x, x + 2, x + 6

https://dl.doubtnut.com/l/_NJeo2V6tqa9Q
https://dl.doubtnut.com/l/_ExcckUummNzL
https://dl.doubtnut.com/l/_pqK7MT5iReA1
https://dl.doubtnut.com/l/_AcxHl0Q6dMmL


Exercise 6 5

Watch Video Solution

1. For each geometric progression find the common ratio 'r', and then find

. 


(i) 

Watch Video Solution

an

3, , , , ……. .
3
2

3

4

3

8

2. For each geometric progression find the common ratio 'r', and then find

. 


(ii) 

Watch Video Solution

an

2, − 6, 18, − 54

3. For each geometric progression find the common ratio 'r', and then find

. 
an

https://dl.doubtnut.com/l/_AcxHl0Q6dMmL
https://dl.doubtnut.com/l/_m3KjBGvdouUn
https://dl.doubtnut.com/l/_E4HXRKpR5bdB
https://dl.doubtnut.com/l/_q5pPnZZTbcL7


(iii) 

Watch Video Solution

−1, − 3, − 9, − 27, ………….

4. For each geometric progression find the common ratio 'r', and then

find . 


(iv) 

Watch Video Solution

an

−1, − 3, − 9, − 27, …….

5. Find the  and  term of G.P. : 5, 25, 125,…..

Watch Video Solution

10th nth

6. Find the indicated term of each geometric progression. 

(i) , find .

Watch Video Solution

a1 = 9, r =
1

3
a7

https://dl.doubtnut.com/l/_q5pPnZZTbcL7
https://dl.doubtnut.com/l/_MUs1zO9AMh79
https://dl.doubtnut.com/l/_T19P3Hk803AL
https://dl.doubtnut.com/l/_g99An2xbKEzD
https://dl.doubtnut.com/l/_ylHchFKvbVWD


7. Find the indicated term of each geometric progression. 

(ii) , find .

Watch Video Solution

a1 = − 12, r =
1

3
a6

8. Which term of the G.P. 

(i) 2, 8, 32,….is 512?

Watch Video Solution

9. Which term of the G.P. 

(ii) ?

Watch Video Solution

√3, 3, 3√3, ……is729

10. Which term of the G.P. 

(iii) ……is 1/2187?, ,
1

3

1

9

1

27

https://dl.doubtnut.com/l/_ylHchFKvbVWD
https://dl.doubtnut.com/l/_0vD8FrBi6Smg
https://dl.doubtnut.com/l/_geuGvBUsHGaQ
https://dl.doubtnut.com/l/_539SNh7K1cGQ


Watch Video Solution

11. Find the  term of a G.P. whose  term is 192 and the common

ratio is 2.

Watch Video Solution

12th 8th

12. The  term of a geometric progression is  and the seventh term is 

. Find the geometric series.

Watch Video Solution

4th
2

3
16

81

13. If the geometric progressions

 have their  term equal, find

the value of n.

Watch Video Solution

162, 54, 18, ……. . And , , , ….
2

81

2

27

2

9
nth

https://dl.doubtnut.com/l/_539SNh7K1cGQ
https://dl.doubtnut.com/l/_IxrJWnaT8fL3
https://dl.doubtnut.com/l/_PYUUNKOBoPK6
https://dl.doubtnut.com/l/_ADkWRcSiVs17


Optional Exercise

1. Which term of the AP :  is the first negative term?

[Hint: Find n for ]

Watch Video Solution

121, 117, 113, …. . ,

an < 0

2. The sum of the third and the seventh terms of an AP is 6 and their

product is 8. find the sum of first sixteen terms of the AP.

Watch Video Solution

3. A larger has rungs 25 cm apart. The rungs decrease uniformaly in

length from 45 cm at the bottom to 25 cm at the top. If the top and the

bottom rungs are  m apart. What is the length of the wood required2
1

2

https://dl.doubtnut.com/l/_kcjeltzuP666
https://dl.doubtnut.com/l/_uG3zQ4tzzPHv
https://dl.doubtnut.com/l/_FpTZMLGJreeM


for the rungs? [ Hint : Number of rungs = ] 


Watch Video Solution

+ 1
250

25

https://dl.doubtnut.com/l/_FpTZMLGJreeM


4. The house of a row are numbered consecutively form 1 to 49. Show that

there is a value of x such that the sum of the numbers of the house

preceding the house numbered x is equal to the sum of the numbers of

the houses following it. And find this value of x. [ Hint: ]

11

Watch Video Solution

Sx− 1 = S49 − Sx

5. A small terrace at a football ground comprises of 15 steps each of

which is 50 m long and built of solid concrete. 

Each step has a rise a  m and a tread of m. (sec Fig.). Calculate the

total volume of concrete required to build the terrace. 

[ Hint : Volume of concrete reuqired to build the first step =

] 


Watch Video Solution

1

4

1

2

× × 50m31

4

1

2

https://dl.doubtnut.com/l/_6YAtL8OSD9f8
https://dl.doubtnut.com/l/_YLESYv7jjXuD


Part A Observation Material To Solve Various Questions Given In The Public

Examination 1 Mark Questions

6. 150 workers were engaged to finish a piece of work in a certain number

of days. Four wirkers dropped from the work in the second day. Four

workers dropped in third day and so on. It took 8 more days to finish the

work. Find the number of days in which the work was completed. 

[ Let the no. of days to finish the work is 'x' then 

]

Watch Video Solution

150x = [2 × 150 + (x + 8 − 1)( − 4)
x + 8

2

7. A machine costs Rs. 5,00,000. if the value depreciates 15% in the first

year,  in the second year, 12% in the third year and so on. What will

be its value at the end of 10 years, when all the percentages will be

applied to the original cost?

Watch Video Solution

13 %
1

2

https://dl.doubtnut.com/l/_6VhyYNF437O7
https://dl.doubtnut.com/l/_6StFC0m7QUwO
https://dl.doubtnut.com/l/_XT4HfdJpTcxM


1. Check whether -25 is a term in the progression 5,3,1, ……., or not?

Watch Video Solution

2. Find out the common ratio in the GP `2, sqrt(2),4,…..

Watch Video Solution

3. Show that the sum of multiple of 3 between 1 and 100 is 1683.

Watch Video Solution

4. The hand borewell driller charges Rs. 200 for the first one meter only

and raises drilling charges @ 30/- for every subsequent meter. Write a

progression for the above data.

Watch Video Solution

https://dl.doubtnut.com/l/_XT4HfdJpTcxM
https://dl.doubtnut.com/l/_rLHVuyBc8BF7
https://dl.doubtnut.com/l/_lAP7QPYoUiah
https://dl.doubtnut.com/l/_7t5bJ3nBX2LM
https://dl.doubtnut.com/l/_PsPmuXLEvuz6


5. Write the common differnece of an Arithmetic Progression, whose 

term is given by .

Watch Video Solution

nth

tn = 3n + 7

6. Find the sum of first 200 natural numbers.

Watch Video Solution

7. Is 'zero' a term of the Arithmetic Progression 31, 28, 25, ….? Justify your

answer.

Watch Video Solution

8. In a GP. . 2017. find the common ratio.

Watch Video Solution

tn = ( − 1)n

https://dl.doubtnut.com/l/_PsPmuXLEvuz6
https://dl.doubtnut.com/l/_9hvpMK1bsdTV
https://dl.doubtnut.com/l/_CaQd7wUOLhcv
https://dl.doubtnut.com/l/_pLDuLWntNDlG
https://dl.doubtnut.com/l/_blec170G3aWp


Part A Observation Material To Solve Various Questions Given In The Public

Examination 2 Mark Questions

9. The nth term of an A.P. is . Find the common difference. 

Watch Video Solution

6n + 2 (x ∈ N)

10. Is the sequence ,…… form an Arithmetic Progression ?

Give reason.

Watch Video Solution

√3, √6, √9, √12

1. Find the number of terms in the following A.P. 

Watch Video Solution

7, 13, 19, …. .205

https://dl.doubtnut.com/l/_blec170G3aWp
https://dl.doubtnut.com/l/_lBVxp3rcJruw
https://dl.doubtnut.com/l/_6vHWQ9zOY29g


2.  term of an A.P. is . If  and , then find 

.

Watch Video Solution

nth an a1 + a2 + a3 = 102 a1 = 15

a10

3. How many three digit numbers are divisible by 3?

Watch Video Solution

4. In a flower garden there are 23 plants in first row, 21 plants in second

row, 19 plants in 3rd row and so on. If there are 10 rows in that garden,

then find the total number of plants in the last row with the help of the

formula 

Watch Video Solution

tn = a + (n − 1)d

https://dl.doubtnut.com/l/_2NNjfAp68VRC
https://dl.doubtnut.com/l/_wnq06XUBEBjs
https://dl.doubtnut.com/l/_zBysH44wcAqa


5. If seven times of 7th term of an Arithmetic Progression is euqal to the

11 times of  term of it, then find the  term of that Arithmetic

Progression.

Watch Video Solution

11th 18th

6. Measures of sides of a triangle are in Arithmetic Progression. Its

perimeter is 30 cm, and the difference between the longest and shortest

side is 4 cm , then find the measures of the sides.

Watch Video Solution

7. Explain the terms in the formula. 

.

Watch Video Solution

Sn = [2a + (n − 1)d]
n

2

https://dl.doubtnut.com/l/_YOfKSRmBTCmB
https://dl.doubtnut.com/l/_8kKeUVaBgBcB
https://dl.doubtnut.com/l/_kbcjoYY2RBIo


8. Find the sum of first 10 terms of an A.P. 

3, 15, 27, 39,…..

Watch Video Solution

9. Find the value of 'k' , so that  are the three

consective terms of an A.P.

Watch Video Solution

k + 2, 4k − 6 and 3k − 2

10. Find the  term from the end of the Arithmetic Progression. 


7, 10, 13, ……, 184.

Watch Video Solution

7th

11. If the sum of first 15 terms of an A.P. is 675 and its first term is 10, then

find 25th term.

https://dl.doubtnut.com/l/_OHOaRwxIm6Qy
https://dl.doubtnut.com/l/_jT2IHaCteaLO
https://dl.doubtnut.com/l/_cwPhWmrT4sPR
https://dl.doubtnut.com/l/_0FwZMWrXIidx


Part A Observation Material To Solve Various Questions Given In The Public

Examination 4 Mark Questions

Watch Video Solution

1. A sum of Rs. 1000 is invested at 8% simple interest per year. Calculate

the interest at the end of each year. Do these interests 

years form a AP? If so, find the total interest to be paid for 30 years

making the use of this fact.

Watch Video Solution

1st, 2nd and 3rd

2. If the sum of first 7 terms and 15 terms of and A.P. are 98 and 390

respectively, then find the sum of first 10 terms.

View Text Solution

https://dl.doubtnut.com/l/_0FwZMWrXIidx
https://dl.doubtnut.com/l/_RVGScBBiHtyR
https://dl.doubtnut.com/l/_LmwXrQsYe3l7


3. A manufacture of TV sets produced 500 sets in the third year and 700

sets in the seventh year. Assuming that the production increase uniformly

by a fixed number every year. Find. 

(i) The production of TV sets in the 15th year.

Watch Video Solution

4. A manufacture of TV sets produced 500 sets in the third year and 700

sets in the seventh year. Assuming that the production increase uniformly

by a fixed number every year. Find. 

(ii) The total production of TV sets in the first ten years.

Watch Video Solution

5. Find the sum of all 3 digit numbers that are divisible by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_1VoAjkL12ZuR
https://dl.doubtnut.com/l/_xA90prfcCCLt
https://dl.doubtnut.com/l/_60Zz7hC5RNeV
https://dl.doubtnut.com/l/_gv7NMkGsuKBi


6. The sum of the three terms which are in an Arithmetic Progression is

33. if the product of the first and the third terms exceeds the second term

by 29, find the Arithmetic Progression.

Watch Video Solution

7. Find the sum of all three digit natural numbers, which are divisible by 3

and not divisible by 6.

Watch Video Solution

8. The sum of  and  terms of A.P. is 72 and the sum of 7th and 12th

terms is 97. Find the A.P.

Watch Video Solution

5th 9th

9. Which term of G.P. : 3, 9, 27, ….. Is 2187?

Watch Video Solution

https://dl.doubtnut.com/l/_gv7NMkGsuKBi
https://dl.doubtnut.com/l/_1UwzosCbjwxp
https://dl.doubtnut.com/l/_UgRXNQ3PufXy
https://dl.doubtnut.com/l/_sRDHQujO5O8X


Creative Questions For Cce Model Examination

10. Find the sum of all two digit positive integers which are divisible by 3

but not by 2?

Watch Video Solution

11. Check whether -321 is a term of the A.P. : 22, 15, 8, 1,…..

Watch Video Solution

1. Find the 13th term of the A.P. 2, 7, 12, ……….

Watch Video Solution

https://dl.doubtnut.com/l/_sRDHQujO5O8X
https://dl.doubtnut.com/l/_8fqE594m1htA
https://dl.doubtnut.com/l/_FfWFfxklQu99
https://dl.doubtnut.com/l/_1ty4BBbGd9Kh


2. In an A.P. the common difference (d) is 6 and seventh term is 36. Can we

write such an A.P.?

Watch Video Solution

3. The 'n' the term of a given A.P. is . Then write the first four terms

in it.

Watch Video Solution

6n + 2

4. In an A.P. the seventh term is 13 and 3rd term is 7. so find 'a' and 'd' in

the method of elimination.

Watch Video Solution

5. Which terms are to be known to calculate 'n' th term of A.P. ?

Watch Video Solution

https://dl.doubtnut.com/l/_JxbhiYeAdRSL
https://dl.doubtnut.com/l/_kNZiBrk7qF5J
https://dl.doubtnut.com/l/_4UNni3yihUqe
https://dl.doubtnut.com/l/_T7fbay0CvzpF


Part B Observation Bits To Solve Various Bits Given In The Public

Examination

6. Establish the relationship between the first and 'n' th term of an A.P. in

which 'd' = 0.

Watch Video Solution

7. What will be the salary of a person in the year 2020, whose salary in the

year 2016 is Rs. 10,000, which increases Rs. 1500 every year?

Watch Video Solution

8. Parking fee for a two wheeler is Rs. 10 per day i.e., for first day, and then

after Rs. 2 for everyday. So what will be the amount to be paid for 15 days?

Watch Video Solution

https://dl.doubtnut.com/l/_T7fbay0CvzpF
https://dl.doubtnut.com/l/_W1Lbtrbxd3r6
https://dl.doubtnut.com/l/_31RxlmLvjZu8
https://dl.doubtnut.com/l/_zalpYZD8FHlf


1. The nth term if a GP =  here 'r' metres ........

A. Common difference

B. common ratio

C. first term

D. radius

Answer: B

Watch Video Solution

an = arn− 1

2. In the formula of  term of term of a Geometric Progression 

 denotes ........

A. Common difference

B. common ratio

C. first term

D. radius

nth

an = a ⋅ rn− 1, r

https://dl.doubtnut.com/l/_cOfvtxC28V7o
https://dl.doubtnut.com/l/_niD3yZjTBvNN


Answer: B

Watch Video Solution

3. In the formula of  term of term of a Geometric Progression 

 denotes ........

A. Common difference

B. common ratio

C. first term

D. radius

Answer: B

Watch Video Solution

nth

an = a ⋅ rn− 1, r

4. The 'n' th term of an A.P. is  then the common difference is

………..

an = 3 + 2n

https://dl.doubtnut.com/l/_niD3yZjTBvNN
https://dl.doubtnut.com/l/_JpkOMbav91Dd
https://dl.doubtnut.com/l/_t314hJqPS4k8


A. 2

B. 3

C. 4

D. 5

Answer: A

Watch Video Solution

5. The common difference of the AP  is ……….

A. x

B. y

C. 

D. 

Answer: B

Watch Video Solution

x − y, x, x + y

−x

−y

https://dl.doubtnut.com/l/_t314hJqPS4k8
https://dl.doubtnut.com/l/_ZP3XLm8AATOY


6. The common difference of the AP  is ………..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2a − b, 4a − 3b, 6a − 5b

2a − 2b

a − b

2a − b

4a − 3b

7. In a GP  then r = …………..

A. 27

B. 3

C. 520

a1 = 20 and a4 = 540

https://dl.doubtnut.com/l/_ZP3XLm8AATOY
https://dl.doubtnut.com/l/_LB5yJtCyEEsI
https://dl.doubtnut.com/l/_8vrdIf4nmrhZ


D. 18

Answer: B

Watch Video Solution

8. Formula for sum of 'n' terms in an AP = …………..

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∑n =
n(n + 1)

2

∑n2 =
n2(n + 1)(n + 2)

6

Sn = [2a + (n − 1)d] or Sn = [a + l]
n

2
n

2

an = a + (n − 1)d

9. The common difference of AP 1, -1, -3, ……. Is …………

https://dl.doubtnut.com/l/_8vrdIf4nmrhZ
https://dl.doubtnut.com/l/_pympIcKOw7Op
https://dl.doubtnut.com/l/_LUpSEVKpmKNV


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

+2

−2

+1

10. In an AP , then  = ………..

A. 8

B. 10

C. 9

D. 7

Answer: A

Watch Video Solution

an =
5n − 3

4
a7

https://dl.doubtnut.com/l/_LUpSEVKpmKNV
https://dl.doubtnut.com/l/_eRBGRcUYFg1e


11. Which term of G.P.  equals to 243?

A. 6

B. 7

C. 8

D. 9

Answer: D

Watch Video Solution

3, 3√3, 9, …….

12. If  are three consecutive terms in G.P. find the value of

'x'.

A. 3

B. 4

C. 2

x, x + 2, x + 6

https://dl.doubtnut.com/l/_eRBGRcUYFg1e
https://dl.doubtnut.com/l/_dTrM0azE9m5i
https://dl.doubtnut.com/l/_l9rBEwth0Agf


D. 1

Answer: C

Watch Video Solution

13. If , then find .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

an =
n(n + 3)

n + 2
a17

340
20

341
19

340
19

341
20

14. The  of an A.P., whose first two terms are -3 and 4 is ………..21th

https://dl.doubtnut.com/l/_l9rBEwth0Agf
https://dl.doubtnut.com/l/_8p3tdG8SIAm7
https://dl.doubtnut.com/l/_JnqUr8yXofXG


A. 143

B. 

C. 

D. 

Answer: C

Watch Video Solution

−143

137

17

15. The common difference of an A.P. for which  is …….

A. 8

B. 

C. 

D. 4

Answer: A

Watch Video Solution

a18 − a14 = 32

−8

−4

https://dl.doubtnut.com/l/_JnqUr8yXofXG
https://dl.doubtnut.com/l/_N4qxcorkC9jk


16. In an A.P., if a = 1 ,  and , then n = ……..

A. 19

B. 42

C. 28

D. 38

Answer: D

Watch Video Solution

an = 20 Sn = 399

17. Which term of the G.P.  is ?

A. 

B. 

C. 

, , , ……….
1

3

1

9

1

27

1

2187

5th

6th

7th

https://dl.doubtnut.com/l/_N4qxcorkC9jk
https://dl.doubtnut.com/l/_wnbUiYoM864J
https://dl.doubtnut.com/l/_UgRP0cPral2y


D. 

Answer: C

Watch Video Solution

8th

18. Which term of A.P., 18,15,12,……. Equal to '0' ?

A. 4

B. 5

C. 6

D. 7

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_UgRP0cPral2y
https://dl.doubtnut.com/l/_UiTIbAATHi6s


19. If k, 2k+1, 2k+3 are three consecutive terms in A.P., then find the value

of k.

A. 1

B. 0

C. 2

D. 3

Answer: A

Watch Video Solution

20. If , then  = ………..

A. 

B. 

C. 

D. 

an =
n

n + 1
a2017

2017
2016

2017
2018

2017
2019

2018

2017

https://dl.doubtnut.com/l/_UJsaaO383jsC
https://dl.doubtnut.com/l/_CK4g2KOwBO0s


Answer: B

Watch Video Solution

21.  term of a progression a, ar , ………. is …………

A. ar

B. 

C. 

D. 

Answer: D

Watch Video Solution

nth ar2

ar2

a + (n − r)r

arn− 1

22. IF 4,a,9 are in G.P., then a=………..

A. 6

https://dl.doubtnut.com/l/_CK4g2KOwBO0s
https://dl.doubtnut.com/l/_3Vwk3OQcAeO2
https://dl.doubtnut.com/l/_YRtp9yBiUgjh


B. -6

C. 7

D. 

Answer: B

Watch Video Solution

±7

23. The next term in A.P.,  is ……..

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√3, √12, √27

√32

√36

√42

√48

https://dl.doubtnut.com/l/_YRtp9yBiUgjh
https://dl.doubtnut.com/l/_n22fpZ1XKS5W
https://dl.doubtnut.com/l/_QjkesJSVzU9x


24. The common difference of A.P. , is …………..

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

log2 2, log2 4, log2 8

25. The sum of first 'n' odd natural numbers is ………

A. n

B. 

C. 

D. 

n2

n(n + 1)

n(n + 1)

2

https://dl.doubtnut.com/l/_QjkesJSVzU9x
https://dl.doubtnut.com/l/_ymh0U3dx0aGy


Answer: B

Watch Video Solution

26. Determine the AP whose  term is 5 and the  term is 9.

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

3rd 7th

27. If (i) , ……… and (ii) 

 are two progressions, then which of them

is a Geometric Progression?

−1.0, − 1.5, − 2.0, − 2.5

−1, − 3, − 9, − 27, …….

https://dl.doubtnut.com/l/_ymh0U3dx0aGy
https://dl.doubtnut.com/l/_zHAe4EhOkif7
https://dl.doubtnut.com/l/_Xiv1hSuLWIk2


A. (i) Only

B. (ii) Only

C. (i) and (ii) both

D. None of them

Answer: B

Watch Video Solution

28. Which of the following is a GP has the common ratio as ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

√2, √6, √18

√3, √6, √12

√5, √15, √45

√7, √21, √63

https://dl.doubtnut.com/l/_Xiv1hSuLWIk2
https://dl.doubtnut.com/l/_LWvS76TWr5DD


29. The common difference of an Arithmetic Progression in which

 is ………

A. 4

B. 

C. 

D. 

Answer: B

Watch Video Solution

a25 − a12 = − 52

−4

−3

3

30. Sum of 10 terms of the progression

 is …………..

A. 45 log 2

B. 90 log 2

log 2 + log 4 + log 8 + log 6 + ….

https://dl.doubtnut.com/l/_LWvS76TWr5DD
https://dl.doubtnut.com/l/_f8EfR5pKpDbg
https://dl.doubtnut.com/l/_3ZUcoiJK243y


C. 10 log 2

D. 55 log 2

Answer: D

Watch Video Solution

31. Which term of the Arithmetic Progression 24, 21, 18, ……. Is the first

negative term?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8th

9th

10th

12th

https://dl.doubtnut.com/l/_3ZUcoiJK243y
https://dl.doubtnut.com/l/_QCd24dgjVZuG
https://dl.doubtnut.com/l/_ZdvDo184DqNB


32. The sum of first 100 natural numbers is ………….

A. 4050

B. 4500

C. 5500

D. 5050

Answer: D

Watch Video Solution

33. If a, b, c are in G.P., then b =

A. ac

B. 

C. 

D. 

√ac

a + c

2

a2c2

https://dl.doubtnut.com/l/_ZdvDo184DqNB
https://dl.doubtnut.com/l/_Irg9jeyVtbVZ


Answer: B

Watch Video Solution

34. If  are in Geometric Progression, then the value of x is

A. 2

B. 1

C. 0

D. 14

Answer: B

Watch Video Solution

− , x, −
2

7

7
2

35. In an Arithmetic Progression ,  term is 11 and  term is 17, then its

common difference is

4th 7th

https://dl.doubtnut.com/l/_Irg9jeyVtbVZ
https://dl.doubtnut.com/l/_qlnLe08TYnq2
https://dl.doubtnut.com/l/_yUpoZRgZCRDw


Creative Bits For Cce Model Examination

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

1. How many terms of A.P.  …… are needed to obtain a sum

-25?

A. 10 or 15

B. 15 or 18

C. 5 or 20

D. 8 or 12

−6, , − 5
−11

2

https://dl.doubtnut.com/l/_yUpoZRgZCRDw
https://dl.doubtnut.com/l/_lKqTGNptXzbR


Answer: C

Watch Video Solution

2. The sum of natural numbers from 1 to 100 is

A. 4050

B. 10100

C. 55

D. 5050

Answer: D

Watch Video Solution

3. The sum of first 50 even numbers is

A. 1250

https://dl.doubtnut.com/l/_lKqTGNptXzbR
https://dl.doubtnut.com/l/_Us4ZBddFvh0w
https://dl.doubtnut.com/l/_BQIVgdziSl6J


B. 2550

C. 1275

D. 2275

Answer: B

Watch Video Solution

4. The sum of first 20 odd numbers is

A. 400

B. 210

C. 420

D. 405

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BQIVgdziSl6J
https://dl.doubtnut.com/l/_polLv2MONSFh
https://dl.doubtnut.com/l/_4IipaNGnOiJT


5. If  are in A.P., then x is equal

A. 5

B. 8

C. 6

D. 4

Answer: D

Watch Video Solution

x − 1, x + 3, 3x − 1

6. The numbers , is …………is

A. A.P. with d = 4

B. A.P. with d = -4

C. A.P. with d = 8

D. G.P.

−15, − 11, − 7, − 3

https://dl.doubtnut.com/l/_4IipaNGnOiJT
https://dl.doubtnut.com/l/_uPZtdLM6GRTO


Answer: A

Watch Video Solution

7. The next term of the A.P. 

, ……….. Is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√48, √75, √108, √147

√27

√197

√192

√243

8. Which term of the Arithmetic Progression 24, 21, 18, ……. Is the first

negative term?

https://dl.doubtnut.com/l/_uPZtdLM6GRTO
https://dl.doubtnut.com/l/_2GFkYkpqIfmk
https://dl.doubtnut.com/l/_b1Mq6ZBKEkuB


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a10

a9

a6

a11

9. Which term of the A.P. 125, 120, 115, ……….. Is the first negative?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25th

26th

24th

27th

https://dl.doubtnut.com/l/_b1Mq6ZBKEkuB
https://dl.doubtnut.com/l/_qnaZNKPAbRFS


10. Which term of the A.P 

100 , 90, 80, ……….. Is zero?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10th

9th

11th

12th

11. , ………… the next term of the A.P. is

A. 

B. 

C. 

(a + 3d), (a + d), (a − d)

a + 2d

a − 2d

a − 4d

https://dl.doubtnut.com/l/_qnaZNKPAbRFS
https://dl.doubtnut.com/l/_Uuem9RMv91PI
https://dl.doubtnut.com/l/_y9zIFR3vTr55


D. 

Answer: D

Watch Video Solution

a − 3d

12. The sum of 15 terms of the A.P. 4, 7, 10, ………. Is

A. 385

B. 475

C. 375

D. 325

Answer: C

Watch Video Solution

13. If , then the common difference of the A.P. isa7 − a3 = 32

https://dl.doubtnut.com/l/_y9zIFR3vTr55
https://dl.doubtnut.com/l/_cqtR4jkdQ5qm
https://dl.doubtnut.com/l/_M65voRjk5LiN


A. 8

B. 6

C. 4

D. 6

Answer: A

Watch Video Solution

14. , then the common difference of the A.P. is

A. 3

B. 5

C. 7

D. 15

Answer: A

Watch Video Solution

a28 − a23 = 15

https://dl.doubtnut.com/l/_M65voRjk5LiN
https://dl.doubtnut.com/l/_TA49VJ2qFOHS


15. if a, b,c are in A.P. then b =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a + c

a + c

2

a − c

a − c

2

16. The  term of 1.1, 2.2, 3.3, 4.4, ………….. Is

A. 18.7

B. 19.8

C. 17.6

17th

https://dl.doubtnut.com/l/_TA49VJ2qFOHS
https://dl.doubtnut.com/l/_BebRtuxTsqNS
https://dl.doubtnut.com/l/_aQykGBjsrykl


D. 17.17

Answer: A

Watch Video Solution

17. The  term of 


………. is

A. -60

B. -80

C. 60

D. 80

Answer: A

Watch Video Solution

25th

−300, − 290, − 280,

https://dl.doubtnut.com/l/_aQykGBjsrykl
https://dl.doubtnut.com/l/_eINgr15rtAWH


18. How many numbers are divisible by 4 lying between 101 and 250 ?

A. 40

B. 62

C. 38

D. 37

Answer: D

Watch Video Solution

19. The common ratio of the G.P. 

3, 6, 12, 24, ………. Is

A. 3

B. 2

C. 

D. 

1/2

1/3

https://dl.doubtnut.com/l/_1CtMCI8joPbQ
https://dl.doubtnut.com/l/_LduJjfyF7C3i


Answer: B

Watch Video Solution

20. The common ratio of the G.P. 

144, 36, 9,………… is

A. 4

B. 2

C. 6

D. 

Answer: D

Watch Video Solution

1/4

21. The  term of  is103rd 1, − 1, 1, − 1, …. .

https://dl.doubtnut.com/l/_LduJjfyF7C3i
https://dl.doubtnut.com/l/_BbpGzH4OXWiw
https://dl.doubtnut.com/l/_DPWt4PqFP3fw


A. -1

B. 1

C. 0

D. -2

Answer: B

Watch Video Solution

22. Which term of the G.P. 

?

A. 

B. 

C. 

D. 

Answer: B

2, 6, 18, 54, ………………is2 × 310

10th

11th

12th

9th

https://dl.doubtnut.com/l/_DPWt4PqFP3fw
https://dl.doubtnut.com/l/_JGUUyX9UMnK3


Watch Video Solution

23. If  of a G.P. is 343, then the common ratio is

A. 11

B. 9

C. 3

D. 7

Answer: D

Watch Video Solution

a7 + a4

24. If a, b, c are in G.P., then b =

A. ac

B. 

C. 

a + c

2

a2c2

https://dl.doubtnut.com/l/_JGUUyX9UMnK3
https://dl.doubtnut.com/l/_OwEFef7xOC39
https://dl.doubtnut.com/l/_dK6gju1V7nBN


D. 

Answer: D

Watch Video Solution

√ac

25. If `4, x, 9 are in G.P. , then x =

A. 7

B. 6

C. 8

D. 5

Answer: B

Watch Video Solution

26. If `3, x, 11 are in A.P. , then x =

https://dl.doubtnut.com/l/_dK6gju1V7nBN
https://dl.doubtnut.com/l/_PymHQdHe4c7w
https://dl.doubtnut.com/l/_v1xls3CJkggT


A. 

B. 14

C. 4

D. 7

Answer: D

Watch Video Solution

√21

27. If x, xy , , …………. Forms a G.P., then its  term is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

xy2, xy3 15th

xy15

xy14

x14y

x15y

https://dl.doubtnut.com/l/_v1xls3CJkggT
https://dl.doubtnut.com/l/_AWx7kcfdncls


28. if a = 3 and , then  is

A. 55

B. 53

C. 73

D. 63

Answer: B

Watch Video Solution

a7 = 33 a11

29.  which term of this A.P. is a first positive

term?

A. 10

B. 11

C. 12

−20, − 18, − 16, …………

https://dl.doubtnut.com/l/_AWx7kcfdncls
https://dl.doubtnut.com/l/_bNPD6JKwNjb8
https://dl.doubtnut.com/l/_8c2ZHaDZsoz5


D. 9

Answer: C

Watch Video Solution

30. 1,-1, 1, -1,1,-1,…… up to 131 terms, then  =

A. 1

B. -1

C. 131

D. 130

Answer: A

Watch Video Solution

S131

31. The  term of the AP 3,11,19,…. Is ……….10th

https://dl.doubtnut.com/l/_8c2ZHaDZsoz5
https://dl.doubtnut.com/l/_pGsMHekMhy43
https://dl.doubtnut.com/l/_y4fxWBiBaniJ


A. 73

B. 16

C. 75

D. 85

Answer: C

Watch Video Solution

32. ………. term of AP 21 , 18, 15, ……. is -81.

A. 35

B. 16

C. 30

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_y4fxWBiBaniJ
https://dl.doubtnut.com/l/_c7sU9N97Nvak


33. The  term from the end of the AP 7,10,13, ….. 184 is ………..

A. 324

B. 181

C. 163

D. 161

Answer: C

Watch Video Solution

8th

34. The nth term of , ……… is ………….

A. 

B. 

C. 

a, a + d, a + 2d

a + (n − 1)d

a − (n + 1)d

a2 − (n − 1)d

https://dl.doubtnut.com/l/_c7sU9N97Nvak
https://dl.doubtnut.com/l/_EUke2Fl8x1MK
https://dl.doubtnut.com/l/_SDxb5YZE6ZnR


D. 

Answer: A

Watch Video Solution

d + (n − 1)a

35. In the AP, first term is 4 and common difference is  then AP is ………..

A. 9,3,-6,…….

B. 10, 12, 14, …….

C. 5,8,16,………….

D. 4,3,2,……

Answer: D

Watch Video Solution

−1

36. The AP with first term is 8 and common difference  is ……………2
1

2

https://dl.doubtnut.com/l/_SDxb5YZE6ZnR
https://dl.doubtnut.com/l/_YJQpegKNkX8Y
https://dl.doubtnut.com/l/_yxVZ9MkMWSK1


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

8, 10 , 13, ……. .
1

2

8, 10, 11 ,
1

2

16, 15 , 10
1

2

1

2

37. In the AP -9 , -14, -19, -24, ………  = ………….

A. 80

B. -60

C. 50

D. -50

Answer: D

Watch Video Solution

a30 − a20

https://dl.doubtnut.com/l/_yxVZ9MkMWSK1
https://dl.doubtnut.com/l/_XwjuJl0oJ3y8


38. The next term of the AP 51, 59 , 67 , 75 is ……………….

A. 12

B. 16

C. 83

D. 38

Answer: C

Watch Video Solution

39. Find the sums given below: 

(iii) 

A. 66

B. 76

C. 86

−5 + ( − 8) + ( − 11) + …… + ( − 230)

https://dl.doubtnut.com/l/_XwjuJl0oJ3y8
https://dl.doubtnut.com/l/_dfs5yxkyhnzh
https://dl.doubtnut.com/l/_NZv4oedN9kvq


D. none

Answer: B

Watch Video Solution

40. 15th term of the AP , ……… is ………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x − 7, x − 2, x + 3

x + 63

x − 6

x − 63

x16

https://dl.doubtnut.com/l/_NZv4oedN9kvq
https://dl.doubtnut.com/l/_BMjqA8Wbb42n


41. The common ratio of the GP 

Is ……….

A. 8

B. 2

C. 5

D. 9

Answer: C

Watch Video Solution

4, 20, 100, 500, …….

42. The 16th term of 4, -4, 4, -4, ………. Is ………………

A. 16

B. 8

C. 4

D. -4

https://dl.doubtnut.com/l/_0sTOOXZNv3gY
https://dl.doubtnut.com/l/_FDHOkryQCJyt


Answer: D

Watch Video Solution

43. AP  …………d = …………….

A. -2

B. 1

C. 2

D. 10

Answer: A

Watch Video Solution

1, − 1, − 3, − 5

44. In the AP -11, -9, -7, ………..d = ………….

A. 4

https://dl.doubtnut.com/l/_FDHOkryQCJyt
https://dl.doubtnut.com/l/_kro926R6hcLP
https://dl.doubtnut.com/l/_x1AafRNskxMN


B. 3

C. -2

D. 2

Answer: D

Watch Video Solution

45. In the AP 100, 103, 106, ……..d = …………..

A. 4

B. 8

C. 6

D. none

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_x1AafRNskxMN
https://dl.doubtnut.com/l/_uyZn98HBTwHR
https://dl.doubtnut.com/l/_Aau3GF19gzCk


46. A GP with r = -2 is ……………..

A. ………

B. 2, 4, 8, 16, ……….

C. 3, -6, 10 ,16, ………….

D. all

Answer: A

Watch Video Solution

5, − 10, 20. − 40

47. A GP with r = 2 is ……………..

A. 7, 14, 28,…….

B. 8, 16, 10, …….

C. 12, 24, 19,………

D. none

https://dl.doubtnut.com/l/_Aau3GF19gzCk
https://dl.doubtnut.com/l/_VXC6Mz24TclE


Answer: A

Watch Video Solution

48. 5, 10, 15, …… 10th term is ………

A. 20

B. 90

C. 60

D. 50

Answer: D

Watch Video Solution

49. 8, 16, 32, ………….6th term is ………..

A. 256

https://dl.doubtnut.com/l/_VXC6Mz24TclE
https://dl.doubtnut.com/l/_vTgR336w1XwC
https://dl.doubtnut.com/l/_oYK4UmsVLJbZ


B. 156

C. 108

D. none

Answer: A

Watch Video Solution

50. ,……..11th term is ………..

A. 1

B. -1

C. 10

D. 9

Answer: B

Watch Video Solution

−1, 1, − 1

https://dl.doubtnut.com/l/_oYK4UmsVLJbZ
https://dl.doubtnut.com/l/_sGvfGVA7nMuw
https://dl.doubtnut.com/l/_mIqpNs3WQmTo


51.  = ……………..

A. 1

B. 12

C. 10

D. 6

Answer: D

Watch Video Solution

−8, − 6, − 4, …………. a7

52. 1,2,3, …… sum to 10 term is ………….

A. 55

B. 65

C. 60

D. 90

https://dl.doubtnut.com/l/_mIqpNs3WQmTo
https://dl.doubtnut.com/l/_QTlkOm8jJIYn


Answer: A

Watch Video Solution

53. If a,b,c are in GP then = …….

A. 

B. 

C. 

D. ac

Answer: D

Watch Video Solution

b2

c/a

a/c

√ac

54. In a GP = …………..

A. 

a6

ar5

https://dl.doubtnut.com/l/_QTlkOm8jJIYn
https://dl.doubtnut.com/l/_itLeGZenUr8y
https://dl.doubtnut.com/l/_Ce1O9GXhKuGm


B. 

C. 

D. all

Answer: A

Watch Video Solution

a5r

a5r5

55. Which term of the G.P. 

(i) 2, 8, 32,….is 512?

A. 16

B. 5

C. 9

D. 10

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Ce1O9GXhKuGm
https://dl.doubtnut.com/l/_OutpQdZ5b5ov


56. Which term of the G.P.  is ?

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

, , , ……….
1

3

1

9

1

27

1

2187

1

1827

1

2187

1

8127

57. `2, 4, 6, …………. D= ………………

A. 1

B. -2

C. 2

D. none

https://dl.doubtnut.com/l/_OutpQdZ5b5ov
https://dl.doubtnut.com/l/_FL7P2M9bJYDA
https://dl.doubtnut.com/l/_ZRsmGiTrXqL2


Answer: C

Watch Video Solution

58. If `2, x, 6 are in GP then x = ……………

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2√3

8√3

2√3

√3

59. 4, 16, , 256,……… then  = ……….

A. 161

□ □

https://dl.doubtnut.com/l/_ZRsmGiTrXqL2
https://dl.doubtnut.com/l/_BXS1304TekS3
https://dl.doubtnut.com/l/_t6w09sCwgMfP


B. 64

C. 62

D. 68

Answer: B

Watch Video Solution

60. 1+2+3+……….+64 = …………..

Watch Video Solution

61. 

Watch Video Solution

12 + 22 + 32 + ………. . + 252 = ………

62. In an AP  then 7a7 = 11a11 a18 = ……….

https://dl.doubtnut.com/l/_t6w09sCwgMfP
https://dl.doubtnut.com/l/_Y5gXMvLbLLOc
https://dl.doubtnut.com/l/_IwXzFkEua0Aa
https://dl.doubtnut.com/l/_GLXcCjc8ib4M


A. -1

B. 0

C. 1

D. 7

Answer: B

Watch Video Solution

63. AM of 24 and 16 is ………….

A. 22

B. 19

C. 16

D. 20

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_GLXcCjc8ib4M
https://dl.doubtnut.com/l/_X7HafuQ9uFlH


64. If a,b,c are in AP then 2b = ………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a + c

a − c

a + c

2

a

2

65. The sum of first 40 positive intergers divisible by 6 is …………

A. 9420

B. 4920

C. 9920

https://dl.doubtnut.com/l/_X7HafuQ9uFlH
https://dl.doubtnut.com/l/_9j0ZfMfysERC
https://dl.doubtnut.com/l/_caX0D3kKAUkT


D. 1290

Answer: B

Watch Video Solution

66. 

A. 30

B. 10

C. 11

D. 

Answer: D

Watch Video Solution

an = 9 − 5n, a4 = ………….

−11

67. In a GP,  then  = …………a8 = 192, r = 2 a12

https://dl.doubtnut.com/l/_caX0D3kKAUkT
https://dl.doubtnut.com/l/_MGdcOsk4X2Fz
https://dl.doubtnut.com/l/_bFDUUXaRsq9F


A. 3072

B. 7032

C. 1032

D. 1100

Answer: A

Watch Video Solution

68. 2, -6, 18, -54, ………….r = ………….

A. -3

B. 3

C. 1

D. -2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_bFDUUXaRsq9F
https://dl.doubtnut.com/l/_7MBRBzrT0Vux


69. 5/2, 5/4, 5/8, …………  = …………….

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

an

5

2n− 1

5

2n

5

2n− 2

70. 

A. 

B. 

C. 

, − 2, , …………. . a5 = …………….
1

√2

8

√2

16√2

32√2

6√2

https://dl.doubtnut.com/l/_7MBRBzrT0Vux
https://dl.doubtnut.com/l/_Ae2CqqQXpMXY
https://dl.doubtnut.com/l/_Wz3v0ehBWJk4


D. 

Answer: B

Watch Video Solution

31√2

71. 

A. -729

B. 729

C. 829

D. 114

Answer: A

Watch Video Solution

3, − 32, 33, ………. a6 = …………. .

72. In a G.P. a = 81, r = − , a3 = ……….
1

3

https://dl.doubtnut.com/l/_Wz3v0ehBWJk4
https://dl.doubtnut.com/l/_vCtT6XBuVzQh
https://dl.doubtnut.com/l/_nFqdzDoK7MbN


A. -9

B. 9

C. -3

D. none

Answer: B

Watch Video Solution

73. In a G.P. 25, -5, 1, -1/5, ……..r = …….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−3

5

2

−1

−1

5

https://dl.doubtnut.com/l/_nFqdzDoK7MbN
https://dl.doubtnut.com/l/_JSjbglDG7eJt


74.  in AP = ……………….

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

Sn

(a + l)
n

2

(a + l)
n

3

2n(a + l)

75. In AP , then a = …………..

A. 8

B. -4

C. -3

a12 = 37, d = 3

https://dl.doubtnut.com/l/_JSjbglDG7eJt
https://dl.doubtnut.com/l/_tFogmKxq2d7a
https://dl.doubtnut.com/l/_wp4amMoNo7eI


D. 4

Answer: D

Watch Video Solution

76. For the following A.Ps, write the the common difference:
(i) 2,6,10,14

A. 4

B. 8

C. 2

D. 10

Answer: A

Watch Video Solution

77. ,…………. . Sum to 10 terms = ………….−1, ,
1

4

3

2

https://dl.doubtnut.com/l/_wp4amMoNo7eI
https://dl.doubtnut.com/l/_NyckcLTYIEA1
https://dl.doubtnut.com/l/_utWgiyhD7nzW


A. 26.25

B. 16.25

C. 36.25

D. 46.25

Answer: D

Watch Video Solution

78. Find the sums given below: 

(iii) 

A. 

B. 

C. 8390

D. none

Answer: A

−5 + ( − 8) + ( − 11) + …… + ( − 230)

−8930

8930

https://dl.doubtnut.com/l/_utWgiyhD7nzW
https://dl.doubtnut.com/l/_yk1aTEnWN7wT


Watch Video Solution

79. Find the sum of : 

(i) The first 1000 positive intergers .

A. 500500

B. 50051

C. 8005

D. none

Answer: A

Watch Video Solution

80.  terms = …….

A. 119

B. -987

16 + 11 + 6 + ……….23

https://dl.doubtnut.com/l/_yk1aTEnWN7wT
https://dl.doubtnut.com/l/_hBECnZIgF1WX
https://dl.doubtnut.com/l/_cgTBhKHVPtWD


C. 891

D. -891

Answer: D

Watch Video Solution

81. Identify the number of 3 digit number that divisible by 7.

A. 126

B. 128

C. 122

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cgTBhKHVPtWD
https://dl.doubtnut.com/l/_hyKIrEQWWSFi


82. In an AP  then  = …….

A. 3

B. 6

C. 1

D. -2

Answer: D

Watch Video Solution

a1 = − 4, a6 = 6 a2

83. For the following A.Ps, write the first term and the common difference:

(i) 3,6,9,12,.......

A. 4

B. 3

C. 6

D. -4

https://dl.doubtnut.com/l/_mLcFWTpG3xc6
https://dl.doubtnut.com/l/_FT8Hk9Od176A


Answer: B

Watch Video Solution

84. In the formula `a_(n) = 3.6, a = - 18.9, d = 2.5, n = ……………

A. 13

B. 12

C. 10

D. 20

Answer: C

Watch Video Solution

85. 5, 1, -3, -7, ………. = ……………..

A. -23

a10

https://dl.doubtnut.com/l/_FT8Hk9Od176A
https://dl.doubtnut.com/l/_M6Ou4bgIb87I
https://dl.doubtnut.com/l/_K4iVmTypQU55


B. 22

C. 31

D. -31

Answer: D

Watch Video Solution

86. , d = ……….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, , ,
1

4

−1

4

−3

4

−5

4

−1

2

1

2

2

−1

https://dl.doubtnut.com/l/_K4iVmTypQU55
https://dl.doubtnut.com/l/_mpccxp3eniC0
https://dl.doubtnut.com/l/_jpZKRhl9z1Pc


87. If 4, x , 16 are in G.P. then x = ………..

A. 12

B. 16

C. 8

D. none

Answer: C

Watch Video Solution

88. 

A. 

B. 

C. 

D. 

13 + 23 + 33 + ………. . + n3 = ………

n

2

(n + 1)
2

2

n(n + 1)

2

n2(n + 1)2

4

https://dl.doubtnut.com/l/_jpZKRhl9z1Pc
https://dl.doubtnut.com/l/_GU4x0Glk86c6


Answer: D

Watch Video Solution

89. G.M. of a and b is ………….

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

√ab

ab

2

a + b

2

90. G.M. of a and  is ……….

A. 

1

a

−3

https://dl.doubtnut.com/l/_GU4x0Glk86c6
https://dl.doubtnut.com/l/_wKpvl7dPbR50
https://dl.doubtnut.com/l/_dNwNjAn9VRqJ


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

7

8

91. Reciprocals of term of GP is ……….

A. AP

B. GP

C. HP

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dNwNjAn9VRqJ
https://dl.doubtnut.com/l/_CXqHGfsziKcn
https://dl.doubtnut.com/l/_C8ie7pajKNAG


92. If a, b, c are in GP then 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

= ………….
b

a

c

b

b

c

1

b

93.  in GP = …………

A. ar

B. 

C. 

D. 

an

arn− 1

an− 1

rn− 1a

2

https://dl.doubtnut.com/l/_C8ie7pajKNAG
https://dl.doubtnut.com/l/_4LeihDUSnfzR


Answer: B

Watch Video Solution

94. `1+1+1+…….+ n terms = ……….

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

n/2

n

n − 1

95. If a,b,c are in GP then b is called ………

A. Geometric mean

https://dl.doubtnut.com/l/_4LeihDUSnfzR
https://dl.doubtnut.com/l/_dhNy5PhhQ0kr
https://dl.doubtnut.com/l/_LLUxYBMfwVF9


B. Arithmetic mean

C. Number

D. none

Answer: A

Watch Video Solution

96. 

A. 100

B. 1001

C. 200

D. 80

Answer: A

Watch Video Solution

∑n = 10, ∑n3 = ……………

https://dl.doubtnut.com/l/_LLUxYBMfwVF9
https://dl.doubtnut.com/l/_CtCtUyXZdVfM
https://dl.doubtnut.com/l/_zaMcGdPG6adf


97. In a series 

A. 41

B. 3

C. 4

D. 2

Answer: D

Watch Video Solution

an = , a2 = ………….
n(n + 1)

3

98. AM of 10 and 20 is …………

A. 12

B. 15

C. 25

D. 10

https://dl.doubtnut.com/l/_zaMcGdPG6adf
https://dl.doubtnut.com/l/_hYmsLddT3YNc


Answer: B

Watch Video Solution

99.  then 

A. 1

B. 0

C. 2

D. 3

Answer: B

Watch Video Solution

an = (n − 1)(n − 2) a2 = ……….

100. If a,b,c are in AP then b-a = …………..

A. c + b

https://dl.doubtnut.com/l/_hYmsLddT3YNc
https://dl.doubtnut.com/l/_bxVfmjZplMLD
https://dl.doubtnut.com/l/_qAxKivHt7xzK


B. 

C. 

D. none

Answer: C

Watch Video Solution

a + b

c − b

101. GM of x, y, z is ………….

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

xyz3

3√xyz

xyz

3

x + y + z

3

https://dl.doubtnut.com/l/_qAxKivHt7xzK
https://dl.doubtnut.com/l/_Fs5rUKtDkvz4
https://dl.doubtnut.com/l/_RPPATUNtIwkS


102. GM of 5 and 125 is …………

A. 13

B. 16

C. 10

D. 25

Answer: D

Watch Video Solution

103.  in AP = ………….

A. 

B. 

C. 

D. none

Sn

[2a + (n − 1)d]
n

2

[a + (n + 1)d]
n

2

n[2a + (n − 1)d]

https://dl.doubtnut.com/l/_RPPATUNtIwkS
https://dl.doubtnut.com/l/_aA6VkoAv4vD8


Answer: A

Watch Video Solution

104.  = ……….

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

an = , a3
n

n + 2

1/2

5/3

3/5

105. The nth term of a GP is , r = …………

A. 

2(0.5)n− 1

−2

https://dl.doubtnut.com/l/_aA6VkoAv4vD8
https://dl.doubtnut.com/l/_dQjKRrZYNwzb
https://dl.doubtnut.com/l/_Gj0l74bpT9kv


B. 

C. 

D. 

Answer: B

Watch Video Solution

1/2

2

−1

106. The common ratio of the GP 

`2, sqrt(8), 4, ………..is ……………….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√3

4

3

√2

https://dl.doubtnut.com/l/_Gj0l74bpT9kv
https://dl.doubtnut.com/l/_nbsyrBsT8J9S


107. a,b,c are in AP then  are in …………….

A. GP

B. HP

C. AP

D. none

Answer: A

Watch Video Solution

3a, 3b, 3c

108. `2, 5/2, 3, ……….S_(25) = ………………

A. 110

B. 180

C. 100

D. none

https://dl.doubtnut.com/l/_nbsyrBsT8J9S
https://dl.doubtnut.com/l/_TIGbZQtS5UrM
https://dl.doubtnut.com/l/_aAxxHokhwCX5


Answer: D

Watch Video Solution

109. AM of M, P, C is ………………

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

MPC

3

M − P − C

M + P + C

3

M + P − C

2

110. 

A. 32

an = 2n, a5 = ………

https://dl.doubtnut.com/l/_aAxxHokhwCX5
https://dl.doubtnut.com/l/_2bNFsTMS9YSG
https://dl.doubtnut.com/l/_R4T0kdIk7GeI


B. 23

C. 18

D. 13

Answer: A

Watch Video Solution

111. AM of 5 and 95 is …………..

A. 105

B. 505

C. 501

D. 50

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_R4T0kdIk7GeI
https://dl.doubtnut.com/l/_H4rpThw041fX
https://dl.doubtnut.com/l/_HOpfrCbUo1BT


112. GM of  and = …………….

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

x3 1

x3

−7

1

3

113. 

A. 

B. 

C. 

D. 

n − 1, n − 2, n − 3, ……. . a10 = …………. .

n − 10

n − 9

n + 9

n − 3

https://dl.doubtnut.com/l/_HOpfrCbUo1BT
https://dl.doubtnut.com/l/_c4UXnxTllV6X


Answer: A

Watch Video Solution

114. Product of n GM's between a and b is ………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(ab)n/ 2

(ab)n

a

b

an

b

115. If  is the AM of a and b then n = …………

A. 

an+ 1 + bn+ 1

an + bn

−1

2

https://dl.doubtnut.com/l/_c4UXnxTllV6X
https://dl.doubtnut.com/l/_iJPkQmHr5tNr
https://dl.doubtnut.com/l/_eD4ZOBhL8YVQ


B. 1

C. 0

D. 4

Answer: C

Watch Video Solution

116. 

A. 19

B. 100

C. 131

D. 12

Answer: A

Watch Video Solution

7, 10, 13, …………, a5 = ………………. .

https://dl.doubtnut.com/l/_eD4ZOBhL8YVQ
https://dl.doubtnut.com/l/_tYVQ7aFrqq03
https://dl.doubtnut.com/l/_bGW4d6OnLoOJ


117. 

A. 81

B. 92

C. 69

D. 82

Answer: D

Watch Video Solution

22, 32, 42, ………. , a7 = ………………

118. 1,4,7,10,………., d = ……………….

A. 13

B. 3

C. 4

D. none

https://dl.doubtnut.com/l/_bGW4d6OnLoOJ
https://dl.doubtnut.com/l/_ST0GnTbAWUE2


Answer: B

Watch Video Solution

119. In  then = ………….

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

APap = q, aq = p ap+q

q − p

p − q

−1

120. Which term of AP 7+4+1+……….is -56 ?

A. 22

https://dl.doubtnut.com/l/_ST0GnTbAWUE2
https://dl.doubtnut.com/l/_GUN8udC15IXz
https://dl.doubtnut.com/l/_QglFfcJ4esKB


B. 20

C. 18

D. 19

Answer: A

Watch Video Solution

121. 1+6+4+9+7+12+………..to 40 terms

A. 20

B. 60

C. 90

D. none

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_QglFfcJ4esKB
https://dl.doubtnut.com/l/_G8H6vCHtiOJv
https://dl.doubtnut.com/l/_5wkXYk36tNR0


122. AM of  and  is ……………..

A. 

B. 

C. x

D. 2x

Answer: B

Watch Video Solution

x2 + y2 x2 − y2

x2

2

x2

123. a,b,c are in AP then  are in ………….

A. HP

B. GP

C. AP

D. None

, ,
1

a

1

b

1

c

https://dl.doubtnut.com/l/_5wkXYk36tNR0
https://dl.doubtnut.com/l/_PlvbhqGlmS8I


Answer: C

Watch Video Solution

124. If there are n AM's between a and b then d = ………………

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

b − a

n + 1

b

n + 1

a − b

n

b

n + 2

125. 10, 100, 1000, …………, r = ……………

A. 12

https://dl.doubtnut.com/l/_PlvbhqGlmS8I
https://dl.doubtnut.com/l/_uJRezqN7Xzrv
https://dl.doubtnut.com/l/_7xpGfbsmHxWq


B. 9

C. 8

D. 10

Answer: D

Watch Video Solution

126. 

A. 3

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 + + + ………. , r = ……………….
1

2

1

22

1/2

2

−1

https://dl.doubtnut.com/l/_7xpGfbsmHxWq
https://dl.doubtnut.com/l/_0RqwVxXQHij2
https://dl.doubtnut.com/l/_LKIoKcbeCeen


127. 3,6,12,…….r = ………….

A. 1

B. 10

C. 3

D. none

Answer: D

Watch Video Solution

128. 

A. a

B. 

C. 

D. none

a, a2, a3, ………. . , r = ……………….

a2

a3

https://dl.doubtnut.com/l/_LKIoKcbeCeen
https://dl.doubtnut.com/l/_qRzOiF5w0qgD


Progressions Multiple Choice Question

Answer: A

Watch Video Solution

129. a,b,c are in AP then  are in ………….

A. GP

B. AP

C. HP

D. none

Answer: C

Watch Video Solution

, ,
1

a

1

b

1

c

https://dl.doubtnut.com/l/_qRzOiF5w0qgD
https://dl.doubtnut.com/l/_ddGltrtG70ft


1. A circle with area A, is contained in the interior of a larger with area

. IF the radius of the larger circle is 3 units and  and

 are in A.P., then find the radius of smaller circle…..

A. 

B. 

C. Unity

D. None

Answer: A

Watch Video Solution

A1 + A2 A1, A2

(A1 + A2)

√3units

√2units

2. IF  and the sequence  and  each are in A.P.,

then find the value of =.....

A. -1

B. 1

x ≠ y x, a, a, y x1, b1, b2, y

a2 − a1

b2 − b1

https://dl.doubtnut.com/l/_dsrHjEXMKt8P
https://dl.doubtnut.com/l/_BKkPjfCN1W25


C. 2

D. -2

Answer: B

Watch Video Solution

3. If a,b, and c are in G.P., with  and  is an integer

then find the sequence formed by ……….

A. A.P.

B. G.P.

C. H.P.

D. None

Answer: C

Watch Video Solution

1 < a < b < x n > 1

loga n, logb n, logc n

https://dl.doubtnut.com/l/_BKkPjfCN1W25
https://dl.doubtnut.com/l/_HYXoddeezK9C
https://dl.doubtnut.com/l/_edOpoWAQjTho


4. IF x,y,z are positive integers (numbers ) then……….

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x + y)(y + z)(z + x) = 8xyz

(x + y)(y + z)(z + x) < 8xyz

(x + y)(y + z)(z + x) = 0

(x + y)(y + z)(z + x) > 8xyz

5. IF , where  and  are the sum of 'n' terms of

the series in A.P .The first term of each being one and the respective

common difference being 1,2,3 then find k=………..

A. 2

B. -2

C. 1

S1 + S3 = K, S2 S1, S2 S3

https://dl.doubtnut.com/l/_edOpoWAQjTho
https://dl.doubtnut.com/l/_trEENXep8M38


D. 0

Answer: A

Watch Video Solution

6. Find the G.M. of the numbers 2,3 and 4.

A. 

B. 

C. 24

D. 

Answer: B

Watch Video Solution

√9

(24)1 / 3

3/2

7. Find  of .Sn √2 + √8 + √18 + √32 + …. . + n

https://dl.doubtnut.com/l/_trEENXep8M38
https://dl.doubtnut.com/l/_gg6Zi5wFiAVj
https://dl.doubtnut.com/l/_WhnARl2hgAhL


A. (2-n)

B. 

C. 

D. 0

Answer: C

Watch Video Solution

√2

n + 1

n(n + 1)

√2

8. Find the co-efficient of  in the polynomial (x-1)(x-2)(x-3)……..(x-100).

A. -2020

B. 2020

C. 5050

D. -5050

Answer: D

Watch Video Solution

x99

https://dl.doubtnut.com/l/_WhnARl2hgAhL
https://dl.doubtnut.com/l/_sIjRLUhOnYOk


9. Find S, for the G.P. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, , , .........
−3

4

3

16

3

64

−3

5

−5

3

3

5

5

3

10. Find the sum of the infinity of the G.P. 

A. 

B. 

C. 

5, , , ……. .
20

7

80

49

3

35

35

3

−3

35

https://dl.doubtnut.com/l/_sIjRLUhOnYOk
https://dl.doubtnut.com/l/_PUTV3WGEgGYq
https://dl.doubtnut.com/l/_WAKlnC7aYIJl


D. 

Answer: B

Watch Video Solution

−35

3

11. Which term of the series 1,2,4,8,……… is 256?

A. 

B. 19

C. 9

D. 

Answer: C

Watch Video Solution

∞

−∞

https://dl.doubtnut.com/l/_WAKlnC7aYIJl
https://dl.doubtnut.com/l/_RMFeVP2H0MCc


12. IF  are three geometric means between "m" and "n". Then 

=…….

A. mn

B. 

C. m-n

D. 

Answer: A

Watch Video Solution

g1, g2g3

g1. g3 = g2
2

m/n

mn

13. The sum of the first three terms of a G.P is  and their product is

one. Find the common ratio.

A. 1

B. 

C. 0

39

10

2

5

https://dl.doubtnut.com/l/_38xgdx4GNteD
https://dl.doubtnut.com/l/_CovlNBsWVOOB


D. 5

Answer: B

Watch Video Solution

14. How many terms of a G.P.3, , ,……….. Are needed to give the sum 120?

A. 4

B. 3

C. -4

D. 5

Answer: A

Watch Video Solution

32 33

15. Find the sum of the first 8 terms of 3,6,12,24,………

https://dl.doubtnut.com/l/_CovlNBsWVOOB
https://dl.doubtnut.com/l/_ZyhhLgu7mXWf
https://dl.doubtnut.com/l/_IhrCULM2z1gr


A. 567

B. 765

C. 675

D. None

Answer: B

Watch Video Solution

16. IF the A.M and G.M of two numbers are 13 and 12 respectively. Find the

numbers.

A. 8,18

B. 8,9

C. 9,20

D. 1,2

Answer: A

https://dl.doubtnut.com/l/_IhrCULM2z1gr
https://dl.doubtnut.com/l/_e0yWwqGdLge9


Watch Video Solution

17. What is the G.M. of 6 and 24?

A. 21

B. 32

C. 36

D. 12

Answer: D

Watch Video Solution

18. Find the values of x so that  are three consecutive terms

of a G.P.

A. 

B. 

, x,
−2

7

−7
2

±1

±2

https://dl.doubtnut.com/l/_e0yWwqGdLge9
https://dl.doubtnut.com/l/_21GKqFPmyxgv
https://dl.doubtnut.com/l/_UHNfVFpwNSoQ


C. 

D. 

Answer: A

Watch Video Solution

±3

±4

19. The  and  terms of a G.P. are p,q and s respectively. Then 

=………

A. ps

B. pr

C. 

D. 

Answer: A

Watch Video Solution

5th, 8th 11th q2

p/s

p/r

https://dl.doubtnut.com/l/_UHNfVFpwNSoQ
https://dl.doubtnut.com/l/_DSyIgW8Ahl4f
https://dl.doubtnut.com/l/_SebAcuCQEjfr


Exercise

20. The product of two numbers is 91 and their A.M. is 10. Find the two

numbers.

A. 12,13

B. 13,7

C. 13,14

D. None

Answer: B

Watch Video Solution

1. Which of these are arithmetic progressions and why? 

(i) 2,3,5,7,8,10,15, ......

Watch Video Solution

https://dl.doubtnut.com/l/_SebAcuCQEjfr
https://dl.doubtnut.com/l/_mIuYGHr2ejRC
https://dl.doubtnut.com/l/_SX6fY8A12T7J


2. Which of these are arithmetic progressions and why? 

(ii) 2,5,7,0,12,15,....

Watch Video Solution

3. Which of these are arithmetic progressions and why? 

(iii) .......

Watch Video Solution

−1, − 3, − 5, − 7,

4. Write 3 more Arithmetic Progressions.

Watch Video Solution

5. Think how each of the list given above form an A.P. Discuss with your

friends. 

https://dl.doubtnut.com/l/_SX6fY8A12T7J
https://dl.doubtnut.com/l/_bKp85nQRUwRi
https://dl.doubtnut.com/l/_GFrgYrXVeJfi
https://dl.doubtnut.com/l/_EvorTsvp0t3M


(d) Cash prizes (in Rs.) given by a school to the toppers of classes I to XII

are 200, 250, 300, 350,.......,750 respectively.

Watch Video Solution

6. Think how each of the list given above form an A.P. Discuss with your

friends. 

(a) Heights (in cm) of some students of a school standing in a queue in

the morning assembly are 

147, 148, 149,......,157

Watch Video Solution

7. Think how each of the list given above form an A.P. Discuss with your

friends. 

(b) Minimum temperatures (in degree celcius) recorded for a week, in the

month of January in a city, arranged in assending order are 

−3.1, − 3.0, − 2.9, − 2.8, − 2.7, − 2.6, − 2.5

https://dl.doubtnut.com/l/_EvorTsvp0t3M
https://dl.doubtnut.com/l/_6QuZp1EjAwqM
https://dl.doubtnut.com/l/_3bpjbsa5PqHr


Watch Video Solution

8. Think how each of the list given above form an A.P. Discuss with your

friends. 

(c) The balance money (in Rs.) after paying 5% of the total loan of Rs.

1000 every month is 

950, 900, 850, 800, ....,50

Watch Video Solution

9. Think how each of the list given above form an A.P. Discuss with your

friends. 

(d) Cash prizes (in Rs.) given by a school to the toppers of classes I to XII

are 200, 250, 300, 350,.......,750 respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_3bpjbsa5PqHr
https://dl.doubtnut.com/l/_2Hhv124F0d8r
https://dl.doubtnut.com/l/_QLaQj36c4EAP


10. Think how each of the list given above form an A.P. Discuss with your

friends. 

(e) Total savings (in Rs.) after every month for 10 month when Rs. 50 are

saved each month are 50, 100, 150, 200, 250, 300, 350, 400,450,500.

Watch Video Solution

11. Draw the next two figures in the pattern above.

Watch Video Solution

12. Make a positive Arithmetic Progression in which the common

difference is a small positive quantity.

https://dl.doubtnut.com/l/_an9GoiL7qZGV
https://dl.doubtnut.com/l/_eM075pu9N4J8
https://dl.doubtnut.com/l/_uZKhI6CRPkg0


Watch Video Solution

13. Make an A.P. in which the common difference is big (large) positive

quantity.

Watch Video Solution

14. Make an A.P. in which the common difference is negative.

Watch Video Solution

15. Write three examples for finite A.P and three for infinite A.P.

Watch Video Solution

16. Take any Arithmetic progression.

Watch Video Solution

https://dl.doubtnut.com/l/_uZKhI6CRPkg0
https://dl.doubtnut.com/l/_IlZwjnS8TXxc
https://dl.doubtnut.com/l/_L7nx5TYfQlNI
https://dl.doubtnut.com/l/_blw4J57vAoNJ
https://dl.doubtnut.com/l/_Harqw0nTV2Vx


17. Add a fixed number to each and every term of A.P. Wrtie the resulting

numbers as a list.

Watch Video Solution

18. Similarly subtract a fixed number from each and every term of A.P.

Write the resulting numbers as a list.

Watch Video Solution

19. Multiply and divide each term of A.P. by a fixed number and write the

resulting numbers as a list.

Watch Video Solution

https://dl.doubtnut.com/l/_Harqw0nTV2Vx
https://dl.doubtnut.com/l/_nnJnm9c93jrA
https://dl.doubtnut.com/l/_S8WuBORXzHTh
https://dl.doubtnut.com/l/_slsY6DsAk2oT


20. Write the negation of the following statements and check whether

the resulting statements are true, 

Australia is a continent.

Watch Video Solution

21. You might have touched soap water or lime water. How do you feel ?

What is your conclusion?

Watch Video Solution

22. For the AP: , .........., write the first term a and the

common difference d. And find teh  term.

Watch Video Solution

, , ,
1

4

−1

4

−3

4

−5

5

7th

https://dl.doubtnut.com/l/_wi4NNIyaMIrk
https://dl.doubtnut.com/l/_86vZsN9vEjCp
https://dl.doubtnut.com/l/_Ocliqa0lIGRw


23. Which of the following forms an AP? If they form AP, then write next

two terms. 

(i) 4,10 ,16,22 .....

Watch Video Solution

24. Which of the following forms an AP? If they form AP, then write next

two terms. 

(ii) 

Watch Video Solution

1, − 1, − 3, − 5, .......... .

25. Which of the following forms an AP? If they form AP, then write next

two terms. 

(iii) 

Watch Video Solution

−2, 2, − 2, 2, − 2, .......... .

https://dl.doubtnut.com/l/_gYkXHvclHcXh
https://dl.doubtnut.com/l/_Y00orMS19p5J
https://dl.doubtnut.com/l/_7AqjVyMlwEMI
https://dl.doubtnut.com/l/_VT2aYgC3KNJe


26. Which of the following forms an AP? If they form AP, then write next

two terms. 

(iii) 

Watch Video Solution

1, 1, 1, 2, 2, 2, 3, 3, 3, ....... .

27. Which of the following forms an AP? If they form AP, then write next

two terms. 

(v) 

Watch Video Solution

x, 2x, 3x, 4x, .......... .

28. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(i) The taxi fare after each km when the fare si Rs. 20 for the first km and

rises by Rs. 8 for each additional km.

Watch Video Solution

https://dl.doubtnut.com/l/_VT2aYgC3KNJe
https://dl.doubtnut.com/l/_5v5q5643iQUo
https://dl.doubtnut.com/l/_y5m8n0k3nkzy
https://dl.doubtnut.com/l/_GbXhftF1NVvm


29. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(ii) The amount of air present in a cylinder when a vacuum pump removes

 of the air remaining in the cylinder at a time.

Watch Video Solution

1/4th

30. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(iii) The cost of digging a well, after every metre of digging, when it costs

Rs. 150 for the first metre and rises by Rs. 50 for each subsequent metre.

Watch Video Solution

31. In which of the following situations, does the list of numbers involved

make an arithmetic progression, and why? 

(iv) The amount of money in the account every year, when Rs. 10000 is

deposited at compound intrest at  per annum.8 %

https://dl.doubtnut.com/l/_GbXhftF1NVvm
https://dl.doubtnut.com/l/_C40LvEzqCiPQ
https://dl.doubtnut.com/l/_5VoNITb7Epxq


Watch Video Solution

32. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(i) a = 10, d = 12.

Watch Video Solution

33. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(ii) a = -2 , d = 0.

Watch Video Solution

34. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(iii) a = 4, d = -3.

W t h Vid S l ti

https://dl.doubtnut.com/l/_5VoNITb7Epxq
https://dl.doubtnut.com/l/_pav8rt1w75zD
https://dl.doubtnut.com/l/_AiiTyoJzOP90
https://dl.doubtnut.com/l/_i0Yl80efHXF5


Watch Video Solution

35. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(iv) a = -1, d = .

Watch Video Solution

1

2

36. Write first four terms of the AP, when the first term a and the common

difference d are given as follows: 

(v) a = -1.25, d = -0.25.

Watch Video Solution

37. For the following A.Ps, write the first term and the common difference:

(i) 3,1,-1,-3,…..

Watch Video Solution

https://dl.doubtnut.com/l/_i0Yl80efHXF5
https://dl.doubtnut.com/l/_S1QVv6kHsgQ2
https://dl.doubtnut.com/l/_697HX2vN58Do
https://dl.doubtnut.com/l/_yktYpb3VOovh
https://dl.doubtnut.com/l/_tuxWTp51gVYI


38. For the following A.Ps, write the first term and the common difference:

(ii) -5,-1,3,7,…..

Watch Video Solution

39. For the following A.Ps, write the first term and the common difference:

(iii) 

Watch Video Solution

, , , ….
1

3

5

3

9

3

13

3

40. For the following A.Ps, write the first term and the common

difference: 

(iv) 0.6, 1.7, 2.8,3.9,…..

Watch Video Solution

https://dl.doubtnut.com/l/_tuxWTp51gVYI
https://dl.doubtnut.com/l/_HZYwi0vgkJga
https://dl.doubtnut.com/l/_0VWs1ZNBLkJc


41. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(i) 2,4,8,16,……

Watch Video Solution

42. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(ii) 

Watch Video Solution

2, , 3, , …….
5

2
7
2

43. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(iii) 

Watch Video Solution

−1.2, − 3.2, − 5.2, − 7.2, …. .

https://dl.doubtnut.com/l/_ngeFJ9IO3gkM
https://dl.doubtnut.com/l/_bPMZHHiQDv99
https://dl.doubtnut.com/l/_z6UokWe75pUZ
https://dl.doubtnut.com/l/_GJP0adyWuDju


44. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(iv) 

Watch Video Solution

−10, − 6, − 2, 2, …….

45. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(v) 

Watch Video Solution

3, 3 + √2, 3 + 2√2, 3 + 3√2……

46. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(vi) 

Watch Video Solution

0.2, 0.22, 0.222, 0.2222, …….

https://dl.doubtnut.com/l/_GJP0adyWuDju
https://dl.doubtnut.com/l/_bHcgY1qwTZdu
https://dl.doubtnut.com/l/_cIn2oXp9jY6a


47. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(vii) 

Watch Video Solution

0, − 4, − 8, − 12, …….

48. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(viii) 

Watch Video Solution

− , − , − , − , ……. .
1

2

1

2

1

2

1

2

49. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(ix) 1,3,9,27,……..

Watch Video Solution

https://dl.doubtnut.com/l/_v10RIuucreaq
https://dl.doubtnut.com/l/_kOiM3LZO8gzT
https://dl.doubtnut.com/l/_StUZ6woBc59T
https://dl.doubtnut.com/l/_2ZCLZleEXpUs


50. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(x) 

Watch Video Solution

a, 2a, 3a, 4a, ……. .

51. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(x) 

Watch Video Solution

a, 2a, 3a, 4a, ……. .

52. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(xii) 

Watch Video Solution

√2, √8, √18, √32, …….

https://dl.doubtnut.com/l/_2ZCLZleEXpUs
https://dl.doubtnut.com/l/_sH4Zvut9nFpf
https://dl.doubtnut.com/l/_pljamsUoUvrW


53. Which of the following are Aps? If they form an AP, find the common

difference d and write three more terms. 

(xiii) 

Watch Video Solution

√3, √6, √9, √12, ………

54. Find the  term of the AP: 5,1,-3,-7 .......

Watch Video Solution

10th

55. Which term of the AP: 21,18,15, ...... Is -81? Is there any term 0? Give

reason for your answer.

Watch Video Solution

56. Determine the AP whose  term is 5 and the  term is 9.

Watch Video Solution

3rd 7th

https://dl.doubtnut.com/l/_ZFD49P5NlKeX
https://dl.doubtnut.com/l/_Foc5SZeQqNg6
https://dl.doubtnut.com/l/_2ypLjbpRRoOY
https://dl.doubtnut.com/l/_PqsarSAjHdZn


57. Check wether 301 is a term of the list of numbers 5, 11, 17, 23, .....

Watch Video Solution

58. How many two-digit numbers are divisible by 3?

Watch Video Solution

59. Find the  term from the last of the A.P series given below: 


A.P : 10, 7, 4, ......, -62

Watch Video Solution

11th

60. A sum of Rs. 1000 is invested at 8% simple interest per year. Calculate

the interest at the end of each year. Do these interests form a AP? If so,

find the interest at the end of 30 years.

W h Vid S l i

https://dl.doubtnut.com/l/_PqsarSAjHdZn
https://dl.doubtnut.com/l/_hacTHSdOuBGw
https://dl.doubtnut.com/l/_LWuLSIFtN7mc
https://dl.doubtnut.com/l/_CKz5zd9GhUQW
https://dl.doubtnut.com/l/_L8AvrpYsJdCv


Watch Video Solution

61. If a flower bed, there are 23 rose plants in the first row, 21 in the

second, 19 in the third, and so on. There are 5 rose plants in the last row.

How many rows are there in the flower bed?

Watch Video Solution

62. Fill in the blanks in the following table, given that 'a' is the first term, d

the common difference and  the  term of the A.P :

Watch Video Solution

an nth

https://dl.doubtnut.com/l/_L8AvrpYsJdCv
https://dl.doubtnut.com/l/_MRaARfzpOUCW
https://dl.doubtnut.com/l/_kTgk6bGj1vco


63. Fill in the blanks in the following table, given that 'a' is the first term, d

the common difference and  the  term of the A.P :

Watch Video Solution

an nth

64. Fill in the blanks in the following table, given that 'a' is the first term, d

the common difference and  the  term of the A.P :

Watch Video Solution

an nth

https://dl.doubtnut.com/l/_DCtJda2MLj3M
https://dl.doubtnut.com/l/_z6By8mrv8BVI


65.

Fillintheblanksinthefollowingtable,giventhat'a'isthefirstterm,dthecommondiffe

the termoftheA.P:

Watch Video Solution

an nth

66.

Fillintheblanksinthefollowingtable,giventhat'a'isthefirstterm,dthecommondiffe

https://dl.doubtnut.com/l/_z6By8mrv8BVI
https://dl.doubtnut.com/l/_C1xbo1kyUOkT
https://dl.doubtnut.com/l/_GMmJI0sYTZdH


the termoftheA.P:

Watch Video Solution

an nth

67. Find the 

(i)  term of the A.P. : 10,7,4, ……

Watch Video Solution

30th

68. Find the 

(ii)  term of the A.P. : 

Watch Video Solution

11th −3, , 2, …….
−1
2

https://dl.doubtnut.com/l/_GMmJI0sYTZdH
https://dl.doubtnut.com/l/_HtK8yhFzTOdo
https://dl.doubtnut.com/l/_05F6Fbr3qx80
https://dl.doubtnut.com/l/_DmO5x6k7vyy3


69. Find the respective terms for the following lowing Aps. 

(i)  , find .

Watch Video Solution

a1 = 2, a3 = 26 a2

70. Find the respective terms for the following lowing Aps. 

(ii) , find .

Watch Video Solution

a2 = 13, a4 = 26 a1, a3

71. Find the respective terms for the following lowing Aps. 

(iii) , find .

Watch Video Solution

a1 = 5, a4 = 9
1
2

a2, a3

72. Find the respective terms for the following lowing Aps. 

(iv) , find .

Watch Video Solution

a1 = − 4, a6 = 6 a2, a3, a4, a5

https://dl.doubtnut.com/l/_DmO5x6k7vyy3
https://dl.doubtnut.com/l/_9VtP25scWtGT
https://dl.doubtnut.com/l/_95gAGrSi1syL
https://dl.doubtnut.com/l/_gfO0aiTw8JFh


Watch Video Solution

73. Find the respective terms for the following lowing Aps. 

(v) , find .

Watch Video Solution

a2 = 38, a6 = − 22 a1, a3, a4, a5

74. Which term of the AP: 

3,8,13,18,……, is 78 ?

Watch Video Solution

75. Find the number of terms in the following A.P. 

Watch Video Solution

7, 13, 19, …. .205

https://dl.doubtnut.com/l/_gfO0aiTw8JFh
https://dl.doubtnut.com/l/_ebsrEyqe6XvJ
https://dl.doubtnut.com/l/_fljOwTsmOrp5
https://dl.doubtnut.com/l/_Lv7yBa3Es0dW


76. Find the number of terms in each of the following Aps : 

(ii) 

Watch Video Solution

18, 15 , 13, …. , − 47
1

2

77. Check whether,  is a term of the AP: 11,8,5,2,…..

Watch Video Solution

−150

78. Find the  term of an A.P. whose  term is 38 and the  term is

73.

Watch Video Solution

31th 11th 16th

79. If the  and the  terms of an A.P are 4 and -8 respectively, which

term of this A.P is zero?

Watch Video Solution

3rd 9th

https://dl.doubtnut.com/l/_ygiTEWwbinPk
https://dl.doubtnut.com/l/_iRYaB17IhKkl
https://dl.doubtnut.com/l/_J13bYdwWhqkl
https://dl.doubtnut.com/l/_UV0qNwYsoOGO


80. The  term of an A.P exceeds its  term by 7. find the common

difference.

Watch Video Solution

17th 10th

81. Two APs have the same common difference. The difference between

their  terms is 100, what is the difference between their  terms

?

Watch Video Solution

100th 1000th

82. How many three-digit numbers are divisible by 7 ?

Watch Video Solution

83. How many mulitiples of 4 lie between 10 and 250?

W h Vid S l i

https://dl.doubtnut.com/l/_UV0qNwYsoOGO
https://dl.doubtnut.com/l/_rCW700RToIa5
https://dl.doubtnut.com/l/_xCReHo2S5C2f
https://dl.doubtnut.com/l/_5srlyMUqaHok
https://dl.doubtnut.com/l/_Wtmpt8rE32pI


Watch Video Solution

84. For what value of n, are the  terms of two Aps : 63, 65,67, …. and 3,

10, 17, …… equal?

Watch Video Solution

nth

85. Determine the AP whose third term is 16 and the  term exceeds the 

 term by 12.

Watch Video Solution

7th

5th

86. Find the  term from the end of the AP : 3, 8 , 13, …..253.

Watch Video Solution

20th

87. The sum of the  and  terms of an AP is 24 and the sum of the 

and  terms is 44. find the first three terms of the AP.

4th 8th 6th

10th

https://dl.doubtnut.com/l/_Wtmpt8rE32pI
https://dl.doubtnut.com/l/_f303Qhcpafe3
https://dl.doubtnut.com/l/_kbJOxrhRfP6w
https://dl.doubtnut.com/l/_vkhE0srR91E5
https://dl.doubtnut.com/l/_KGRaoXPCWtj5


Watch Video Solution

88. Subba Rao started work in 1995 at an annual salary of Rs. 5000 and

recived and increment of Rs. 200 each year. In which year did his income

reach Rs. 7000 ?

Watch Video Solution

89. Find the sum of indicated number of terms in each of the following

A.Ps. 

(i) 16, 11, 6, ......, 23 terms.

Watch Video Solution

90. Find the sum of indicated number of terms in each of the following

A.Ps. 

(ii)  ....., 10 terms.

W t h Vid S l ti

−0.5, − 1.0, − 1.5,

https://dl.doubtnut.com/l/_KGRaoXPCWtj5
https://dl.doubtnut.com/l/_jBMPEwMF6TdP
https://dl.doubtnut.com/l/_VlwXmiUgPPIl
https://dl.doubtnut.com/l/_SJ7ZdB7nn3Jx


Watch Video Solution

91. Find the sum of indicated number of terms in each of the following

A.Ps. 

(iii)  terms.

Watch Video Solution

−1, , , ....10
1

4

3

2

92. If the sum of the first 14 terms of an AP is 1050 and its first term is 10,

find the  term.

Watch Video Solution

20th

93. How many terms of the AP : 24, 21, 18 .... . Must be taken so that their

sum is 78 ?

Watch Video Solution

https://dl.doubtnut.com/l/_SJ7ZdB7nn3Jx
https://dl.doubtnut.com/l/_0xfxZbONhuO2
https://dl.doubtnut.com/l/_70mdD7wL2X6G
https://dl.doubtnut.com/l/_XqwQT1aYCVb5


94. Find the sum of: 

(i) the first 1000 natural numbers, (ii) the first n natural numbers.

Watch Video Solution

95. Find the sum of : the first n natural numbers

Watch Video Solution

96. Find the sum of first 24 terms of the list of numbers whose  terms

is given by 

Watch Video Solution

nth

an = 3 + 2n

97. A manufacturer of TV sets produced 600 sets in the third year and 700

sets in the seventh year. Assuming that the production increases

uniformly by a fixed number every year, find: 

https://dl.doubtnut.com/l/_7EYFiOExcPlV
https://dl.doubtnut.com/l/_btoAlaWFh6Ku
https://dl.doubtnut.com/l/_tCuN4tkpZtdv
https://dl.doubtnut.com/l/_LVvXK8eEXPPx


(i) the production in the 1st yea 

(ii) the production in the 10th year 

(iii) the total production in first 7 years Solution :

Watch Video Solution

98. A manufacturer of TV sets produced 600 sets in the third year and 700

sets in the seventh year. Assuming that the production increases

uniformly by a fixed number every year, find: 

(i) the production in the 1st yea 

(ii) the production in the 10th year 

(iii) the total production in first 7 years Solution :

Watch Video Solution

99. A manufacturer of TV sets produced 600 sets in the third year and 700

sets in the seventh year. Assuming that the production increases

uniformly by a fixed number every year, find: 

(i) the production in the 1st yea 

https://dl.doubtnut.com/l/_LVvXK8eEXPPx
https://dl.doubtnut.com/l/_8bQ8VuiVS43C
https://dl.doubtnut.com/l/_Mll3MF9TeAIN


(ii) the production in the 10th year 

(iii) the total production in first 7 years Solution :

Watch Video Solution

100. Find the sum of the following Aps, 

(i) 2,7,12,…..to 10 terms. 

(ii) , to 12 terms 


(iii) 0.6, 1.7, 2.8,…… to 100 terms 

(iv) , ………….. To 11 terms.

Watch Video Solution

−37, − 33, − 29

, ,
1

15

1

12

1

10

101. Find the sum of the following APs. 

(ii) -37 , -33, -29,……., to 12 term.

Watch Video Solution

https://dl.doubtnut.com/l/_Mll3MF9TeAIN
https://dl.doubtnut.com/l/_PDEi5BRCPhpE
https://dl.doubtnut.com/l/_Xl0pkc7Rryf3


102. Find the sum of the following APs. 

(i) 2,7,12,……., to 10 terms.

Watch Video Solution

103. Find the sum of the following APs. 

(iv) ……, ot 11 terms.

Watch Video Solution

, , ,
1

15

1

12

1

10

104. Find the sums given below: 

(i) .

Watch Video Solution

7 + 10 + 14 + ……. + 84
1

2

105. Find the sums given below: 

(ii) .34 + 32 + 30 + …. + 10

https://dl.doubtnut.com/l/_XbUgxDsR4VyI
https://dl.doubtnut.com/l/_2Uov7woULgDE
https://dl.doubtnut.com/l/_wWWdIk5CjROn
https://dl.doubtnut.com/l/_42BCS4rLD3Iy


Watch Video Solution

106. Find the sums given below: 

(iii) 

Watch Video Solution

−5 + ( − 8) + ( − 11) + …… + ( − 230)

107. In an AP: 

(i) Given , find n and .

Watch Video Solution

a = 5, d = 3, an = 50 Sn

108. In an AP: 

(ii) Given , find d and .

Watch Video Solution

a = 7, a13 = 35 S13

https://dl.doubtnut.com/l/_42BCS4rLD3Iy
https://dl.doubtnut.com/l/_N8VRpfzgN15x
https://dl.doubtnut.com/l/_sGKDNyXs1DlF
https://dl.doubtnut.com/l/_jmScdUMyBmN7


109. In an AP: 

(iii) Given , find a and .

Watch Video Solution

a12 = 37, d = 3 S12

110. In an AP: 

(iv) Given , find d and .

Watch Video Solution

a3 = 15, S10 = 125 a10

111. In an AP: 

(v) Given , find n and .

Watch Video Solution

a = 2, d = 8, Sn = 90 an

112. In an AP: 

(vi) Given , find n and a.an = 4, d = 2, Sn = − 14

https://dl.doubtnut.com/l/_vpTrTJunnq6A
https://dl.doubtnut.com/l/_MuAzMWFU8Fs2
https://dl.doubtnut.com/l/_T4MbGrnXryE6
https://dl.doubtnut.com/l/_t1vhkbdC8Ofe


Watch Video Solution

113. In an AP: 

(vii) Given , and there are total 9 terms. Find a.

Watch Video Solution

l = 28, S = 144

114. The first and the last terms of an A.P. are 17 and 350 respectively. If

the common difference is 9, how many terms are there and what is their

sum?

Watch Video Solution

115. Find the sum of first 51 terms of an AP whose second and third terms

are 14 and 18 respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_t1vhkbdC8Ofe
https://dl.doubtnut.com/l/_SKhQW3lZioSg
https://dl.doubtnut.com/l/_FnYlAW9lEU8i
https://dl.doubtnut.com/l/_UAjt862TdriE
https://dl.doubtnut.com/l/_7cMevR19aeY3


116. If the sum of first 7 terms of an AP is 49 and that of 17 terms is 289,

find the sum of first n terms.

Watch Video Solution

117. Show that  form an AP where  is defined as

below: 

(i) . Also find the sum of the first 15 terms in each case.

Watch Video Solution

a1, a2, ……. . , an…. . an

an = 3 + 4n

118. Show that  form an AP where  is defined as

below: 

(i) . Also find the sum of the first 15 terms in each case.

Watch Video Solution

a1, a2, ……. . , an…. . an

an = 3 + 4n

https://dl.doubtnut.com/l/_7cMevR19aeY3
https://dl.doubtnut.com/l/_B5RDyIDAJv4a
https://dl.doubtnut.com/l/_0xOqVZDOj9Bu


119. If the sum of the first n terms of an AP is  , what is the first

term (remember the first term is )? What is the sum of first two terms?

What is the second term? Similarly, find the , the  and the 

terms.

Watch Video Solution

4n − n2

S1

3rd 10th nth

120. Find the sum of the first 40 positive intergers divisible by 6.

Watch Video Solution

121. A sum of Rs. 700 is to be used to give seven cash prizes to students of

a school for their overall academic performance. If each prize is Rs. 20 less

than its preceding prize. Find the value of each of prizes.

Watch Video Solution

https://dl.doubtnut.com/l/_nhPQrq67P49k
https://dl.doubtnut.com/l/_Gz77J4v8Ly3y
https://dl.doubtnut.com/l/_pc0M8mGPKavS


122. In a school, students thought of planting trees in an around the

school to reduce air pollution. It was decided that the number of trees,

that each section of each class will plant, will be the same as the class. In

which they are studying e.g., a section of Class I will plant 1 tree, a section

of Class II will plant 2 trees and so on till Class XII. There are three

sections of each class. How many trees will be planted by the students?

Watch Video Solution

123. A sprial is made up of successive semicircles, with centres alternately

at A and B, starting with centre at A, of radii 0.5 cm, 1.0 cm, 1.5 cm , 2.0 cm,

….. As shown in figure. What is the total length of such a spiral made up of

thirteen consecutive semicircles? (Take ) 


[Hint : Length of successive semicircles is ...... with centres at

A, B,A,B, ....., respectively.] 

Watch Video Solution

π =
22

7

l1, l2, l3, l4,

https://dl.doubtnut.com/l/_TEgGJYRil6wJ
https://dl.doubtnut.com/l/_rIfGrQK2HZs7


124. 200 logs are stacked in the following manner : 20 logs in the bottom

row, 19 in the row above, 18 in the row above to it and so on. In how many

rows are the 200 logs placed and how many logs are in the top row ?

Watch Video Solution

125. In a bucket and ball race, a bucket is placed at the starting point.

Which is 5m from the first ball, and other balls are placed 3m apart in a

straight line. There are ten balls in the line. 

 

A competitor starts from the bucket, picks up the nearest ball, runs back

with it, drops it in the bucket, runs back to pick up the next ball, runs to

the bucket to drop it in, and she continues in the same way until all the

balls are in the bucket. What is the total distance the competitor has to

run? 

[ Hint: To pick up the second ball, the total distance (in metres) run by a

competitor is ]

Watch Video Solution

2 × 5 + 2 × (5 + 3)

https://dl.doubtnut.com/l/_uBej209jPyLL
https://dl.doubtnut.com/l/_OVcy3FbcUAv6


126. A runner starts from the bucket, picks up the nearest ball, runs back

with it, drops it in the bucket, runs back to pick up the next ball, runs to

the bucket to drop it in, and she continues in the same way until all the

balls are in the bucket. What is the total distance the runner has to run?

Watch Video Solution

127. Find which of the following are not G.P. 

(i) 6,12, 24, 48, ......

Watch Video Solution

128. Find which of the following are not G.P. 

(ii) 1,4,9,16,.....

Watch Video Solution

https://dl.doubtnut.com/l/_OVcy3FbcUAv6
https://dl.doubtnut.com/l/_Ede4RlWaxKfm
https://dl.doubtnut.com/l/_pE7jtv1aG7nu
https://dl.doubtnut.com/l/_dj3VZvQYIKvg
https://dl.doubtnut.com/l/_09rSXvwDbHDH


129. Find which of the following are not G.P. 

(iii) 1, -1, 1, -1,......

Watch Video Solution

130. Find which of the following are not G.P. 

(iv) 

Watch Video Solution

−4, − 20, − 100, − 500, ......

131. Explain why each of the lists above is a G.P. 

(i) 1, 4, 16, 64, 256,.......

Watch Video Solution

132. Explain why each of the lists above is a G.P. 

(ii) 550, 605, 665.5, .......

Watch Video Solution

https://dl.doubtnut.com/l/_09rSXvwDbHDH
https://dl.doubtnut.com/l/_DfOsp49bMTdE
https://dl.doubtnut.com/l/_dZjBfceyWwU2
https://dl.doubtnut.com/l/_lsMoS5zFxYiH


133. Explain why each of the lists above is a G.P. 

(iii) 256, 128, 64,32,......

Watch Video Solution

134. Explain why each of the lists above is a G.P. 

(iv) 18, 16.2, 14.58, 13.122 ......

Watch Video Solution

135. To know about a G.P. What is minimum information that we need?

Watch Video Solution

136. Write the G.P. If the first term a=3, and the common ratio r= 2.

Watch Video Solution

https://dl.doubtnut.com/l/_lsMoS5zFxYiH
https://dl.doubtnut.com/l/_4uNonpTahVUa
https://dl.doubtnut.com/l/_LKR6vpIOtKQ1
https://dl.doubtnut.com/l/_adevl75jdgeH
https://dl.doubtnut.com/l/_5wkHyZJax9hw


137. Write G.P. If .

Watch Video Solution

a = 256, r =
−1

2

138. Find the common ratio of the G.P. 

.

Watch Video Solution

25, − 5, 1,
−1

5

139. Which of the following list of number form G.P. ? 

(i) 3, 6, 12, ......

Watch Video Solution

140. Which of the following list of number form G.P. ? 

(ii) 64, -32, 16, ......

https://dl.doubtnut.com/l/_5wkHyZJax9hw
https://dl.doubtnut.com/l/_NhnmIjBIDYs8
https://dl.doubtnut.com/l/_9AVG2xkgXV9C
https://dl.doubtnut.com/l/_dFOBEWN3SgCQ
https://dl.doubtnut.com/l/_ap0RklG5ZtG3


Watch Video Solution

141. Which of the following list of number form G.P. ? 

(iii) , .......

Watch Video Solution

, ,
1

64

1

32

1

8

142. In which of the following situations, does the list of numbers

involved in the form a G.P.? 

(i) Salary of Sharmila, when her salary is Rs. 5,00,000 for the first year and

expected to receive yearly increase of 10%.

Watch Video Solution

143. In which of the following situations, does the list of numbers involved

in the form a G.P.? 

(ii) Number of bricks needed to make each step, if the stair case has total

https://dl.doubtnut.com/l/_ap0RklG5ZtG3
https://dl.doubtnut.com/l/_qrsuuwMxM2Md
https://dl.doubtnut.com/l/_bqQU7i8WDizR
https://dl.doubtnut.com/l/_2kodohcPGffj


30 steps. Bottom step needs 100 bricks and each successive step needs 2

bricks less than the previous step.

Watch Video Solution

144. In which of the following situations, does the list of numbers

involved in the form a G.P.? 

(iii) Perimeter of the each triangle , when the mid-points of sides of an

equilateral triangle whose side is 24 cm are joined to form another

triangle, whose mid-point in turn are joined to form still another triangle

and the process continues indefinitely. 

Watch Video Solution

145. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(i) a = 4, r = 3

W t h Vid S l ti

https://dl.doubtnut.com/l/_2kodohcPGffj
https://dl.doubtnut.com/l/_AbLggzAZPSx4
https://dl.doubtnut.com/l/_bQT8AOof1JoD


Watch Video Solution

146. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(ii) .

Watch Video Solution

a = √5, r =
1

5

147. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(i) a = 4, r = 3

Watch Video Solution

148. Write three terms of the G.P. when the first term 'a' and the common

ratio 'r' are given. 

(iv) .

Watch Video Solution

a = , r = 2
1

64

https://dl.doubtnut.com/l/_bQT8AOof1JoD
https://dl.doubtnut.com/l/_OGRCfduf0cQe
https://dl.doubtnut.com/l/_66kDCJXjcjOP
https://dl.doubtnut.com/l/_HR5DmeoNLj36


149. Which of the following are G.P.? If they are G.P., write three more

terms. 

(i) 4,8,16,….

Watch Video Solution

150. Which of the following are G.P.? If they are G.P., write three more

terms. 

(ii) 

Watch Video Solution

, , , …….
1

3

−1

6

1

12

151. Which of the following are G.P.? If they are G.P., write three more

terms. 

(iii) 

Watch Video Solution

5, 55, 555, ……. .

https://dl.doubtnut.com/l/_HR5DmeoNLj36
https://dl.doubtnut.com/l/_dOtVeBKXniay
https://dl.doubtnut.com/l/_etHyiuk4I6Dk
https://dl.doubtnut.com/l/_MFWaeCb7FIUE


152. Which of the following are G.P.? If they are G.P., write three more

terms. 

(iv) 

Watch Video Solution

−2, − 6, − 18, ………

153. Which of the following are G.P.? If they are G.P., write three more

terms. 

(v) ,…..

Watch Video Solution

, ,
1

2

1

4

1

6

154. Which of the following are G.P.? If they are G.P., write three more

terms. 

(vi) ,…….

Watch Video Solution

3, − 32, 33

https://dl.doubtnut.com/l/_OOBwS7ihbqG6
https://dl.doubtnut.com/l/_pfm0QbAM4PjQ
https://dl.doubtnut.com/l/_pIuZZ5Dtp8LS
https://dl.doubtnut.com/l/_i3nzJxXK3dpW


155. Which of the following are G.P.? If they are G.P., write three more

terms. 

(vii) 

Watch Video Solution

X, 1, , …. .
1

X

156. Which of the following are G.P.? If they are G.P., write three more

terms. 

(viii) , ……

Watch Video Solution

, − 2,
1

√2

8

√2

157. Which of the following are G.P.? If they are G.P., write three more

terms. 

(ix) 

Watch Video Solution

0.4, 0.04, 0.004, ……….

https://dl.doubtnut.com/l/_i3nzJxXK3dpW
https://dl.doubtnut.com/l/_fPHy92uMOx78
https://dl.doubtnut.com/l/_aVXgmU21J2nN


158. Find x so that  are consecutive terms of a geometric

progression.

Watch Video Solution

x, x + 2, x + 6

159. Find the  and  term of the G.P. 


,.......

Watch Video Solution

20th nth

, ,
5

2

5

4

5

8

160. Which term of the G.P. 

, ..... Is 128?

Watch Video Solution

2, 2√2, 4

161. In a GP the  term is 24 and  term is 192. find the  term.

Watch Video Solution

3rd 6th 10th

https://dl.doubtnut.com/l/_rfXzAlSBy17B
https://dl.doubtnut.com/l/_Nvju7NqIaJ2z
https://dl.doubtnut.com/l/_jxMotESdtWLW
https://dl.doubtnut.com/l/_uGawXlNlICwt


162. For each geometric progression find the common ratio 'r', and then

find . 


(i) 

Watch Video Solution

an

3, , , , ……. .
3

2

3

4

3

8

163. For each geometric progression find the common ratio 'r', and then

find . 


(ii) 

Watch Video Solution

an

2, − 6, 18, − 54

164. For each geometric progression find the common ratio 'r', and then

find . 


(iv) 

Watch Video Solution

an

−1, − 3, − 9, − 27, …….

https://dl.doubtnut.com/l/_uGawXlNlICwt
https://dl.doubtnut.com/l/_Gt9EvEo4qfd3
https://dl.doubtnut.com/l/_SXCPPW9uGKYA
https://dl.doubtnut.com/l/_a92c7G6YzmRp


165. For each geometric progressions find the common ratio 'r'. And then

find . 


(i) ,…… 


(ii)  


(iii) ,….. 


(iv) ,…..

Watch Video Solution

an

3, , ,
3

2

3

4

3

8

2, − 6, 18, − 54

−1, − 3, − 9, − 27

5, 2, ,
4
5

8

25

166. Find the  and  term of G.P. : 5, 25, 125,…..

Watch Video Solution

10th nth

167. Find the indicated term of each geometric progression. 

(i) , find .

Watch Video Solution

a1 = 9, r =
1

3
a7

https://dl.doubtnut.com/l/_5HT2zmnTrT30
https://dl.doubtnut.com/l/_zSW08IBuGUJC
https://dl.doubtnut.com/l/_tWtjC3npnJN2
https://dl.doubtnut.com/l/_3YnIrcy4Khtd


168. Find the indicated term of each geometric progression. 

(ii) , find .

Watch Video Solution

a1 = − 12, r =
1

3
a6

169. Which term of the G.P. 

(i) 2, 8, 32,….is 512?

Watch Video Solution

170. Which term of the G.P. 

(ii) ?

Watch Video Solution

√3, 3, 3√3, ……is729

171. Which term of the G.P.  is ?

Watch Video Solution

, , , ……….
1

3

1

9

1

27

1

2187

https://dl.doubtnut.com/l/_3YnIrcy4Khtd
https://dl.doubtnut.com/l/_8MIs9bLD9ZzZ
https://dl.doubtnut.com/l/_A7ac25Y4vvZv
https://dl.doubtnut.com/l/_B2GI978YfIvk


172. Find the  term of a G.P. whose  term is 192 and the common

ratio is 2.

Watch Video Solution

12th 8th

173. The  term of a geometric progression is  and the seventh term is

. Find the geometric series.

Watch Video Solution

4th
2

3
16

81

174. If the geometric progressions

 have their  term equal, find

the value of n.

Watch Video Solution

162, 54, 18, ……. . And , , , ….
2

81

2

27

2

9
nth

https://dl.doubtnut.com/l/_PC412ZzWq6OV
https://dl.doubtnut.com/l/_0rqq0JPSOPXT
https://dl.doubtnut.com/l/_R1VVSsmmgsaR


175. Which term of the AP :  is the first negative

term? [Hint: Find n for ]

Watch Video Solution

121, 117, 113, …. . ,

an < 0

176. The sum of the third and the seventh terms of an AP is 6 and their

product is 8. find the sum of first sixteen terms of the AP.

Watch Video Solution

177. A larger has rungs 25 cm apart. The rungs decrease uniformaly in

length from 45 cm at the bottom to 25 cm at the top. If the top and the

bottom rungs are  m apart. What is the length of the wood required2
1

2

https://dl.doubtnut.com/l/_TEGM2824wbo1
https://dl.doubtnut.com/l/_uFu1pVCSxv1w
https://dl.doubtnut.com/l/_P3xUP1RLhYrQ


for the rungs? [ Hint : Number of rungs = ] 


Watch Video Solution

+ 1
250

25

https://dl.doubtnut.com/l/_P3xUP1RLhYrQ


178. The house of a row are numbered consecutively form 1 to 49. Show

that there is a value of x such that the sum of the numbers of the house

preceding the house numbered x is equal to the sum of the numbers of

the houses following it. And find this value of x. [ Hint: ]

11

Watch Video Solution

Sx− 1 = S49 − Sx

179. A small terrace at a football ground comprises of 15 steps each of

which is 50 m long and built of solid concrete. 

Each step has a rise a  m and a tread of m. (sec Fig.). Calculate the

total volume of concrete required to build the terrace. 

[ Hint : Volume of concrete reuqired to build the first step =

] 


Watch Video Solution

1

4

1

2

× × 50m31

4

1

2

https://dl.doubtnut.com/l/_76T9PZPIh3CS
https://dl.doubtnut.com/l/_4WAjvsUEussf


180. 150 workers were engaged to finish a piece of work in a certain

number of days. Four wirkers dropped from the work in the second day.

Four workers dropped in third day and so on. It took 8 more days to finish

the work. Find the number of days in which the work was completed.

Watch Video Solution

181. A machine costs Rs. 5,00,000. if the value depreciates 15% in the first

year,  in the second year, 12% in the third year and so on. What will

be its value at the end of 10 years, when all the percentages will be

applied to the original cost?

Watch Video Solution

13 %
1

2

182. The hand borewell driller charges Rs. 200 for the first one meter only

and raises drilling charges @ 30/- for every subsequent meter. Write a

progression for the above data.

Watch Video Solution

https://dl.doubtnut.com/l/_oiijPoZT1jn3
https://dl.doubtnut.com/l/_75RzH72lWQ7Q
https://dl.doubtnut.com/l/_ck901Vh219vG


Watch Video Solution

183. Write the common differnece of an Arithmetic Progression, whose 

term is given by .

Watch Video Solution

nth

tn = 3n + 7

184. Find the sum of first 200 natural numbers.

Watch Video Solution

185. Is 'zero' a term of the Arithmetic Progression 31, 28, 25, ….? Justify your

answer.

Watch Video Solution

186. In a GP. . 2017. find the common ratio.

Watch Video Solution

tn = ( − 1)n

https://dl.doubtnut.com/l/_ck901Vh219vG
https://dl.doubtnut.com/l/_Xkw7DwJnFVk6
https://dl.doubtnut.com/l/_QOQ2jCD2WDlb
https://dl.doubtnut.com/l/_1JtKcZLSpYBO
https://dl.doubtnut.com/l/_mmbaaN87kpOY


187. The nth term of an A.P. is . Find the common difference. 

Watch Video Solution

6n + 2

(x ∈ N)

188. Is the sequence ,…… form an Arithmetic Progression

? Give reason.

Watch Video Solution

√3, √6, √9, √12

189. Radha says “1,1,1,… are in A.P and also G.P”.Do you agree with Radha,?

Give reason.

Watch Video Solution

190. In the AP -9 , -14, -19, -24, ………  = ………….a30 − a20

https://dl.doubtnut.com/l/_mmbaaN87kpOY
https://dl.doubtnut.com/l/_6KJESmMiREjd
https://dl.doubtnut.com/l/_HSpfBITeEObV
https://dl.doubtnut.com/l/_WHERMf7K85ro
https://dl.doubtnut.com/l/_z5NLBQJ4TnfZ


Watch Video Solution

191. Find the  term of the A.P. : 15, 12, 9, .....

Watch Video Solution

11th

192. In a flower garden there are 23 plants in first row, 21 plants in second

row, 19 plants in 3rd row and so on. If there are 10 rows in that garden,

then find the total number of plants in the last row with the help of the

formula 

Watch Video Solution

tn = a + (n − 1)d

193. If seven times of 7th term of an Arithmetic Progression is euqal to

the 11 times of  term of it, then find the  term of that Arithmetic

Progression.

Watch Video Solution

11th 18th

https://dl.doubtnut.com/l/_z5NLBQJ4TnfZ
https://dl.doubtnut.com/l/_JVycDkwRE7sZ
https://dl.doubtnut.com/l/_FMP843stYwZF
https://dl.doubtnut.com/l/_Rlz5akg9UD9I


194. Measures of sides of a triangle are in Arithmetic Progression. Its

perimeter is 30 cm, and the difference between the longest and shortest

side is 4 cm , then find the measures of the sides.

Watch Video Solution

195. Explain the terms in the formula. 

.

Watch Video Solution

Sn = [2a + (n − 1)d]
n

2

196. Find the sum of first 10 terms of an A.P. 

3, 15, 27, 39,…..

Watch Video Solution

https://dl.doubtnut.com/l/_vGPgoQEBBrC1
https://dl.doubtnut.com/l/_tuB790my5njO
https://dl.doubtnut.com/l/_BVuba8w2Tq2l


197. Find the value of 'k' , so that  are the three

consective terms of an A.P.

Watch Video Solution

k + 2, 4k − 6 and 3k − 2

198. Find the  term from the end of the Arithmetic Progression. 


7, 10, 13, ……, 184.

Watch Video Solution

7th

199. Write the formula of  term of G.P. and explain the terms in it.

Watch Video Solution

nth

200. In a rangoli design of 13 rows, every row increases its previous row

by two dots and first row contains 5 dots then how many total dots are in

the design?

https://dl.doubtnut.com/l/_ZLMOl2Ud4B19
https://dl.doubtnut.com/l/_7XnKDzOaDrBm
https://dl.doubtnut.com/l/_sSpBvIKJy66r
https://dl.doubtnut.com/l/_HL7VmUXjnqqj


Watch Video Solution

201. Which term of the G.P. : , 2, , 4, ....... is 32 ?

Watch Video Solution

√2 2√2

202. A manufacture of TV sets produced 500 sets in the third year and

700 sets in the seventh year. Assuming that the production increase

uniformly by a fixed number every year. Find. 

(i) The production of TV sets in the 15th year.

Watch Video Solution

203. A manufacture of TV sets produced 500 sets in the third year and

700 sets in the seventh year. Assuming that the production increase

uniformly by a fixed number every year. Find. 

(ii) The total production of TV sets in the first ten years.

Watch Video Solution

https://dl.doubtnut.com/l/_HL7VmUXjnqqj
https://dl.doubtnut.com/l/_SkGlxd0LD8Qk
https://dl.doubtnut.com/l/_YrZPzCMJShWT
https://dl.doubtnut.com/l/_Gp4IxFaBVuWG


204. Find the sum of all 3 digit numbers that are divisible by 4.

Watch Video Solution

205. The sum of the three terms which are in an Arithmetic Progression is

33. if the product of the first and the third terms exceeds the second term

by 29, find the Arithmetic Progression.

Watch Video Solution

206. Find the sum of all three digit natural numbers, which are divisible

by 3 and not divisible by 6.

Watch Video Solution

https://dl.doubtnut.com/l/_Gp4IxFaBVuWG
https://dl.doubtnut.com/l/_qo83dZCP4TCH
https://dl.doubtnut.com/l/_4REWrBYGRws0
https://dl.doubtnut.com/l/_JKBM8frDOidZ


207. The sum of  and  terms of A.P. is 72 and the sum of 7th and 12th

terms is 97. Find the A.P.

Watch Video Solution

5th 9th

208. Which term of G.P. : 3, 9, 27, ….. Is 2187?

Watch Video Solution

209. Find the sum of all two digit positive integers which are divisible by 3

but not by 2?

Watch Video Solution

210. Find the sum of all two digit odd multiples of 3.

Watch Video Solution

https://dl.doubtnut.com/l/_co83yhK3tXE9
https://dl.doubtnut.com/l/_Pfty0RA0l3b0
https://dl.doubtnut.com/l/_P3ddV5aBEIEW
https://dl.doubtnut.com/l/_za3CDXYUSd5U
https://dl.doubtnut.com/l/_DjBLI5fa0cQI


211. Find the sum of the integers between 100 and 500 that are divisible

by 9.

Watch Video Solution

212. Find the sum of all the integers between 1 to 50 which are not

divisible by 3.

Watch Video Solution

213. Find the 13th term of the A.P. 2, 7, 12, ……….

Watch Video Solution

214. In an A.P. the common difference (d) is 6 and seventh term is 36. Can

we write such an A.P.?

Watch Video Solution

https://dl.doubtnut.com/l/_DjBLI5fa0cQI
https://dl.doubtnut.com/l/_UNGFYRT0KqeX
https://dl.doubtnut.com/l/_DGL273PG3bsz
https://dl.doubtnut.com/l/_5PbMuYwpGsC3


215. The 'n' the term of a given A.P. is . Then write the first four

terms in it.

Watch Video Solution

6n + 2

216. Which terms are to be known to calculate 'n' th term of A.P. ?

Watch Video Solution

217. Find out the common ratio in the GP `2, sqrt(2),4,…..

Watch Video Solution

218. Find the number of terms in the following A.P. 

Watch Video Solution

7, 13, 19, …. .205

https://dl.doubtnut.com/l/_5PbMuYwpGsC3
https://dl.doubtnut.com/l/_FiRgZC7AnEuH
https://dl.doubtnut.com/l/_gs4t4KlEWzp3
https://dl.doubtnut.com/l/_nFRDUIC8qNlY
https://dl.doubtnut.com/l/_TY46KP0wnYs2


219. In an A.P. the seventh term is 13 and 3rd term is 7. so find 'a' and 'd' in

the method of elimination.

Watch Video Solution

220. Establish the relationship between the first and 'n' th term of an A.P.

in which 'd' = 0.

Watch Video Solution

221. What will be the salary of a person in the year 2020, whose salary in

the year 2016 is Rs. 10,000, which increases Rs. 1500 every year?

Watch Video Solution

222. Check whether -25 is a term in the progression 5,3,1, ……., or not?

Watch Video Solution

https://dl.doubtnut.com/l/_4zvAmnP7lTsi
https://dl.doubtnut.com/l/_N7oVC86j7Y4p
https://dl.doubtnut.com/l/_dZX9E0WJPZep
https://dl.doubtnut.com/l/_13ARy4neO9zy


223. Parking fee for a two wheeler is Rs. 10 per day i.e., for first day, and

then after Rs. 2 for everyday. So what will be the amount to be paid for 15

days?

Watch Video Solution

224. Determine the AP whose  term is 5 and the  term is 9.

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

3rd 7th

https://dl.doubtnut.com/l/_13ARy4neO9zy
https://dl.doubtnut.com/l/_ub3E9vzohUR9
https://dl.doubtnut.com/l/_BL37ZIKPGbgB


225. If (i) , ……… and (ii) 

 are two progressions, then which of them

is a Geometric Progression?

A. (i)only

B. (ii) only

C. (I)and(ii)both

D. None of them

Answer:

Watch Video Solution

−1.0, − 1.5, − 2.0, − 2.5

−1, − 3, − 9, − 27, …….

226. In the formula of  term of term of a Geometric Progression 

 denotes ........

A. Nth term

B. Number of terms

nth

an = a ⋅ rn− 1, r

https://dl.doubtnut.com/l/_13XEtPieYPS0
https://dl.doubtnut.com/l/_7zILMw6ZNzC0


C. Common ratio

D. First term

Answer:

Watch Video Solution

227. Which of the following is a geometric progression has the common

ratio as ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√2

√2, √6, √18

√3, √6, √12

√5, √15, √45

√7, √21, √63

https://dl.doubtnut.com/l/_7zILMw6ZNzC0
https://dl.doubtnut.com/l/_tN9dkJ0Y8tFp
https://dl.doubtnut.com/l/_eEzbsISl9Mhb


228. In the formula of  term of term of a Geometric Progression 

 denotes ........

A. First term

B. Common ratio

C. Common difference

D. Number of terms

Answer:

Watch Video Solution

nth

an = a ⋅ rn− 1, r

229. The common difference of an Arithmetic Progression in which

 is ………

A. 4

B. -4

C. -4

a25 − a12 = − 52

https://dl.doubtnut.com/l/_eEzbsISl9Mhb
https://dl.doubtnut.com/l/_vxpKIf2cJH9q


D. 3

Answer:

Watch Video Solution

230. Sum of 10 terms of the progression

 is …………..

A. 45 log 2

B. 90 log 2

C. 10 log 2

D. 55 log2

Answer:

Watch Video Solution

log 2 + log 4 + log 8 + log 6 + ….

https://dl.doubtnut.com/l/_vxpKIf2cJH9q
https://dl.doubtnut.com/l/_OQLCCVYY5H5Z


231. Which term of the Arithmetic Progression 24, 21, 18, ……. Is the first

negative term?

A. 8 th

B. 

C. 

D. 

Answer:

Watch Video Solution

9th

10th

12th

232. The sum of first 100 natural numbers is ………….

A. 4050

B. 4500

C. 5500

D. 5050

https://dl.doubtnut.com/l/_KM41D6lLCBK3
https://dl.doubtnut.com/l/_iZw4p2eeTFRe


Answer:

Watch Video Solution

233. If a, b, c are in G.P., then b =

A. Ac

B. 

C. 

D. 

Answer:

Watch Video Solution

√ac

a + c

2

a2c2

234. If  are in Geometric Progression, then the value of x is

A. 2

− , x, −
2

7

7
2

https://dl.doubtnut.com/l/_iZw4p2eeTFRe
https://dl.doubtnut.com/l/_qZ9YLWpf5jLe
https://dl.doubtnut.com/l/_6GD8cLsphKvY


B. 1

C. 0

D. 14

Answer:

Watch Video Solution

235. In an Arithmetic Progression ,  term is 11 and  term is 17, then

its common difference is

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

4th 7th

https://dl.doubtnut.com/l/_6GD8cLsphKvY
https://dl.doubtnut.com/l/_jJgUVfhL25FA


236. If the common difference of AP is 2 then =

A. 5

B. 10

C. 2

D. 20

Answer:

Watch Video Solution

a10 − a5

237. In a G.P, the  term is 32 and  term is 128, then the common ratio

of GP

A. 2

B. 5

C. 7

5th 7th

https://dl.doubtnut.com/l/_jJgUVfhL25FA
https://dl.doubtnut.com/l/_Pru8PpWJzMt7
https://dl.doubtnut.com/l/_iUpDiUYcCzke


D. 3

Answer:

Watch Video Solution

238. Sum of the first 10 natural numbers is

A. 

B. 

C. 

D. Both a and b

Answer:

Watch Video Solution

10 × 9

2

10 × 10

2

10 × 11

2

239. The nth term if a GP =  here 'r' means ........an = arn− 1

https://dl.doubtnut.com/l/_iUpDiUYcCzke
https://dl.doubtnut.com/l/_giIJHyba7OBs
https://dl.doubtnut.com/l/_ghqHX9BqIqb2


A. Radius

B. Common ratio

C. Common difference

D. Common multiple

Answer:

Watch Video Solution

240. if a, b,c are in A.P. then b =

A. 

B. A + c

C. 

D. AC

Answer:

Watch Video Solution

a + c

2

√ac

https://dl.doubtnut.com/l/_ghqHX9BqIqb2
https://dl.doubtnut.com/l/_llhcTodx7A8s


241. The sum of the first 20 even natural numbers is

A. 5050

B. 55

C. 505

D. 420

Answer:

Watch Video Solution

242. How many terms of A.P.  …… are needed to obtain a

sum -25?

A. 10 or 15

B. 15 or 18

C. 5 or 20

−6, , − 5
−11

2

https://dl.doubtnut.com/l/_llhcTodx7A8s
https://dl.doubtnut.com/l/_Iy7fFWLmVnyA
https://dl.doubtnut.com/l/_NnvBsItbIJTM


D. 8 or 12

Answer:

Watch Video Solution

243. The sum of natural numbers from 1 to 100 is

A. 4050

B. 10100

C. 55

D. 5050

Answer:

Watch Video Solution

244. The sum of first 50 even numbers is

https://dl.doubtnut.com/l/_NnvBsItbIJTM
https://dl.doubtnut.com/l/_qkaBeHABa4rF
https://dl.doubtnut.com/l/_qbP0KGU3Ou7r


A. 1250

B. 2550

C. 1275

D. 2275

Answer:

Watch Video Solution

245. The sum of first 20 odd numbers is

A. 400

B. 210

C. 420

D. 405

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qbP0KGU3Ou7r
https://dl.doubtnut.com/l/_XgyVjnyLta4N


246. If  are in A.P., then x is equal

A. 5

B. 8

C. Six

D. 4

Answer:

Watch Video Solution

x − 1, x + 3, 3x − 1

247. The numbers , is …………is

A. AP with d=4

B. AP with d=-4

C. AP with d=8

−15, − 11, − 7, − 3

https://dl.doubtnut.com/l/_XgyVjnyLta4N
https://dl.doubtnut.com/l/_4H6VcfwSvnrk
https://dl.doubtnut.com/l/_gTzzYAcZC2jp


D. GP

Answer:

Watch Video Solution

248. The next term of the A.P. 

, ……….. Is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√48, √75, √108, √147

√27

√197

√197

√243

https://dl.doubtnut.com/l/_gTzzYAcZC2jp
https://dl.doubtnut.com/l/_EMGKCdz0J3Q0


249. Which term of the Arithmetic Progression 24, 21, 18, ……. Is the first

negative term?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a10

a9

a6

a11

250. Which term of the A.P. 125, 120, 115, ……….. Is the first negative?

A. 

B. 

C. 

D. 

25th

26th

24th

27th

https://dl.doubtnut.com/l/_PcYgTBcm0AAi
https://dl.doubtnut.com/l/_dciL9LSiCJBx


Answer:

Watch Video Solution

251. Which term of the A.P 

100 , 90, 80, ……….. Is zero?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

10th

9th

11th

12th

252. , ………… the next term of the A.P. is(a + 3d), (a + d), (a − d)

https://dl.doubtnut.com/l/_dciL9LSiCJBx
https://dl.doubtnut.com/l/_5WxNfmkTqRPP
https://dl.doubtnut.com/l/_B1yArMFkDm3n


A. a+2d

B. a-2d

C. a-4d

D. a-3d

Answer:

Watch Video Solution

253. The sum of 15 terms of the A.P. 4, 7, 10, ………. Is

A. 385

B. 475

C. 375

D. 325

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_B1yArMFkDm3n
https://dl.doubtnut.com/l/_RvlPpEBicTNI


254. If , then the common difference of the A.P. is

A. 8

B. 6

C. 4

D. 6

Answer:

Watch Video Solution

a7 − a3 = 32

255. , then the common difference of the A.P. is

A. 3

B. 5

C. 7

a28 − a23 = 15

https://dl.doubtnut.com/l/_RvlPpEBicTNI
https://dl.doubtnut.com/l/_JqAyrZqtVCBj
https://dl.doubtnut.com/l/_Hd0mEr80pSXM


D. 15

Answer:

Watch Video Solution

256. If a,b,c are in AP then b-a = …………..

A. a+c

B. 

C. a-c

D. 

Answer:

Watch Video Solution

a + c

2

a − c

2

257. The  term of 1.1, 2.2, 3.3, 4.4, ………….. Is17th

https://dl.doubtnut.com/l/_Hd0mEr80pSXM
https://dl.doubtnut.com/l/_REKwAyy6AuAJ
https://dl.doubtnut.com/l/_5Mk8Wdrwx14X


A. 18.7

B. 19.8

C. 17.6

D. 17.17

Answer:

Watch Video Solution

258. The  term of 


………. is

A. -60

B. -80

C. 60

D. 80

Answer:

25th

−300, − 290, − 280,

https://dl.doubtnut.com/l/_5Mk8Wdrwx14X
https://dl.doubtnut.com/l/_Z4k6Nj3MjKQc


Watch Video Solution

259. How many numbers are divisible by 4 lying between 101 and 250 ?

A. 40

B. 62

C. 38

D. 37

Answer:

Watch Video Solution

260. The common ratio of the G.P. 

3, 6, 12, 24, ………. Is

A. 3

B. 2

https://dl.doubtnut.com/l/_Z4k6Nj3MjKQc
https://dl.doubtnut.com/l/_4qAFUoL3PXJ2
https://dl.doubtnut.com/l/_Kbs2asF747QA


C. 

D. 

Answer:

Watch Video Solution

1

2

1

3

261. The common ratio of the G.P. 

3, 6, 12, 24, ………. Is

A. 4

B. 2

C. 6

D. 

Answer:

Watch Video Solution

1

4

https://dl.doubtnut.com/l/_Kbs2asF747QA
https://dl.doubtnut.com/l/_x2HAXnpzt1CI
https://dl.doubtnut.com/l/_6FxJmlJWZrYe


262. The  term of  is

A. 1

B. -1

C. 0

D. -2

Answer:

Watch Video Solution

103rd 1, − 1, 1, − 1, …. .

263. Which term of the G.P. 

?

A. 

B. 

C. 12th

D. 9th

2, 6, 18, 54, ………………is2 × 310

10th

11th

https://dl.doubtnut.com/l/_6FxJmlJWZrYe
https://dl.doubtnut.com/l/_v1iKTjtNuOaz


Answer:

Watch Video Solution

264. If  of a G.P. is 343, then the common ratio is

A. 11

B. 9

C. 3

D. 7

Answer:

Watch Video Solution

a7 + a4

265. If a, b, c are in G.P., then b =

A. Ac

https://dl.doubtnut.com/l/_v1iKTjtNuOaz
https://dl.doubtnut.com/l/_cQYQN9mmqqHz
https://dl.doubtnut.com/l/_7rNXLk1WnWxM


B. 

C. 

D. 

Answer:

Watch Video Solution

a + c

2

a2c2

√ac

266. If `4, x, 9 are in G.P. , then x =

A. 7

B. 6

C. 8

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7rNXLk1WnWxM
https://dl.doubtnut.com/l/_rvQbCrSd3bpF
https://dl.doubtnut.com/l/_MtcK3HKw1OGN


267. If `3, x, 11 are in A.P. , then x =

A. 

B. 14

C. 4

D. 7

Answer:

Watch Video Solution

√21

268. If x, xy , , …………. Forms a G.P., then its  term is

A. 

B. 

C. 

D. 

xy2, xy3 15th

xy15

xy14

x14y

x15y

https://dl.doubtnut.com/l/_MtcK3HKw1OGN
https://dl.doubtnut.com/l/_JII4hcC0nmT4


Answer:

Watch Video Solution

269. if a = 3 and , then  is

A. 55

B. 53

C. 73

D. 63

Answer:

Watch Video Solution

a7 = 33 a11

270.  which term of this A.P. is a first

positive term?

−20, − 18, − 16, …………

https://dl.doubtnut.com/l/_JII4hcC0nmT4
https://dl.doubtnut.com/l/_AgJkiRT6VdnN
https://dl.doubtnut.com/l/_bLxbkXyHbFoJ


A. 10

B. 11

C. 12

D. 9

Answer:

Watch Video Solution

271. 1,-1, 1, -1,1,-1,…… up to 131 terms, then  =

A. 1

B. -1

C. 131

D. 130

Answer:

Watch Video Solution

S131

https://dl.doubtnut.com/l/_bLxbkXyHbFoJ
https://dl.doubtnut.com/l/_vMAZESC0nTec


272. The  term of the AP 3,11,19,…. Is ……….

A. 73

B. 16

C. 75

D. 85

Answer:

Watch Video Solution

10th

273. ………. term of AP 21 , 18, 15, ……. is -81.

A. 35

B. 16

C. 30

https://dl.doubtnut.com/l/_vMAZESC0nTec
https://dl.doubtnut.com/l/_uUNqtoyJ1OyY
https://dl.doubtnut.com/l/_7e41y7reteCS


D. None

Answer:

Watch Video Solution

274. The  term from the end of the AP 7,10,13, ….. 184 is ………..

A. 324

B. 181

C. 163

D. 161

Answer:

Watch Video Solution

8th

275. The nth term of , ……… is ………….a, a + d, a + 2d

https://dl.doubtnut.com/l/_7e41y7reteCS
https://dl.doubtnut.com/l/_39m0m4858u8q
https://dl.doubtnut.com/l/_qG45xXhMj0Nc


A. A+(n-1)d

B. a-(n+1)d

C. 

D. D+(n-1)d

Answer:

Watch Video Solution

a2 − (n − 1)d

276. In the AP, first term is 4 and common difference is  then AP is ………..

A. 9, 3,-6,…..

B. 10, 12, 14,…

C. 5, 8, 16,…

D. 4, 3, 2,…

Answer:

Watch Video Solution

−1

https://dl.doubtnut.com/l/_qG45xXhMj0Nc
https://dl.doubtnut.com/l/_baLea25LD4hd


277. The AP with first term is 8 and common difference  is ……………

A. 8, , 13,….

B. 8, 10,

C. 16, ,

D. None

Answer:

Watch Video Solution

2
1

2

10
1

2

111

2

15
1

2
10

1

2

278. In the AP -9 , -14, -19, -24, ………  = ………….

A. 80

B. -60

C. 50

a30 − a20

https://dl.doubtnut.com/l/_baLea25LD4hd
https://dl.doubtnut.com/l/_ASp4PhFbndMz
https://dl.doubtnut.com/l/_mlTfN4l8BJ13


D. -50

Answer:

Watch Video Solution

279. The next term of the AP 51, 59 , 67 , 75 is ……………….

A. 12

B. 16

C. 83

D. 38

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mlTfN4l8BJ13
https://dl.doubtnut.com/l/_jhYZf8vBGkXu


280. Find the sums given below: 

(iii) 

A. 66

B. 76

C. 86

D. None

Answer:

Watch Video Solution

−5 + ( − 8) + ( − 11) + …… + ( − 230)

281. 15th term of the AP , ……… is ………….

A. X+63

B. x-6

C. x-63

D. X+16

x − 7, x − 2, x + 3

https://dl.doubtnut.com/l/_rkSaoqilBaIT
https://dl.doubtnut.com/l/_Huyp4jW4sKqa


Answer:

Watch Video Solution

282. The common ratio of the GP 

Is ……….

A. 8

B. 2

C. 5

D. 9

Answer:

Watch Video Solution

4, 20, 100, 500, …….

283. The 16th term of 4, -4, 4, -4, ………. Is ………………

https://dl.doubtnut.com/l/_Huyp4jW4sKqa
https://dl.doubtnut.com/l/_M4pjgWzX3FSk
https://dl.doubtnut.com/l/_N6omjSDaqNCu


A. 16

B. 8

C. 4

D. -4

Answer:

Watch Video Solution

284. AP  …………d = …………….

A. -2

B. 1

C. 2

D. 10

Answer:

Watch Video Solution

1, − 1, − 3, − 5

https://dl.doubtnut.com/l/_N6omjSDaqNCu
https://dl.doubtnut.com/l/_2oYumeF0D3T1


285. In the AP -11, -9, -7, ………..d = ………….

A. 4

B. 3

C. -2

D. 2

Answer:

Watch Video Solution

286. In the AP 100, 103, 106, ……..d = …………..

A. 4

B. 8

C. Six

https://dl.doubtnut.com/l/_2oYumeF0D3T1
https://dl.doubtnut.com/l/_UzEMAXD69itL
https://dl.doubtnut.com/l/_0OR08m1a4jG6


D. None

Answer:

Watch Video Solution

287. A GP with r = -2 is ……………..

A. 5,-10, 20,-40

B. 2 ,4 ,8, 16

C. 3,-6,10,16….

D. All

Answer:

Watch Video Solution

288. A GP with r = 2 is ……………..

https://dl.doubtnut.com/l/_0OR08m1a4jG6
https://dl.doubtnut.com/l/_uhmAY7M22W2t
https://dl.doubtnut.com/l/_9NM2gqIAITlp


A. 7, 14, 28

B. 8, 16,10

C. 12, 24, 19,…

D. None

Answer:

Watch Video Solution

289. 5, 10, 15, …… 10th term is ………

A. 20

B. 90

C. 60

D. 50

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9NM2gqIAITlp
https://dl.doubtnut.com/l/_fAnF9EdidS7H


290. 8, 16, 32, ………….6th term is ………..

A. 256

B. 156

C. 108

D. None

Answer:

Watch Video Solution

291. ,……..11th term is ………..

A. 1

B. -1

C. 10

−1, 1, − 1

https://dl.doubtnut.com/l/_fAnF9EdidS7H
https://dl.doubtnut.com/l/_xiCXHfYtnH4C
https://dl.doubtnut.com/l/_Bh5LMHH4v7u9


D. 9

Answer:

Watch Video Solution

292.  = ……………..

A. 1

B. 12

C. 10

D. 6

Answer:

Watch Video Solution

−8, − 6, − 4, …………. a7

293. 1,2,3, …… sum to 10 term is ………….

https://dl.doubtnut.com/l/_Bh5LMHH4v7u9
https://dl.doubtnut.com/l/_fRUl54kcgjnv
https://dl.doubtnut.com/l/_y4hmh8KXa68j


A. 55

B. 65

C. 60

D. 90

Answer:

Watch Video Solution

294. If a,b,c are in GP then = …….

A. 

B. 

C. 

D. Ac

Answer:

Watch Video Solution

b2

c

a

a

c

√ac

https://dl.doubtnut.com/l/_y4hmh8KXa68j
https://dl.doubtnut.com/l/_S5P0BI1k8OIG


295. In a GP = …………..

A. 

B. 

C. 

D. All

Answer:

Watch Video Solution

a6

ar5

a5r

a5r5

296. Which term of the G.P., 2,8,32, ... up to n terms is 131072 ?

A. 16

B. 5

C. 9

https://dl.doubtnut.com/l/_S5P0BI1k8OIG
https://dl.doubtnut.com/l/_Bd7tXnLFbs6K
https://dl.doubtnut.com/l/_cnatAi7G9gqd


D. 10

Answer:

Watch Video Solution

297. 

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

, , , …. a7
1

3

1

9

1

27

1

1827

1

2187

1

8127

298. 3, ….r=,
3

2

3

4

https://dl.doubtnut.com/l/_cnatAi7G9gqd
https://dl.doubtnut.com/l/_ZdyhyLXeD5lM
https://dl.doubtnut.com/l/_9DIWM7pv3hEF


A. 1

B. 2

C. -1

D. None

Answer:

Watch Video Solution

299. If `2, x, 6 are in GP then x = ……………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2√3

8√3

2√2

√3

https://dl.doubtnut.com/l/_9DIWM7pv3hEF
https://dl.doubtnut.com/l/_9XQFNeYSCwfE


300. 4, 16, , 256,……… then  = ……….

A. 161

B. 64

C. 62

D. 68

Answer:

Watch Video Solution

□ □

301. 1+2+3+..+n=….

A. 

B. 

C. 

(n + 1)

2

n(n − 1)

2

n2 + 1
2

https://dl.doubtnut.com/l/_9XQFNeYSCwfE
https://dl.doubtnut.com/l/_SFfYVPnI1XMw
https://dl.doubtnut.com/l/_VvN1nqtY4IgP


D. None

Answer:

Watch Video Solution

302. Using the principle of Mathematical Induction , , prove that 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∀n ∈ N

12 + 22 + 32 + .... . n2 =
n(n + 1)(2n + 1)

6

n2(n − 1)
2

2

n(2n + 1)

4

n(n + 1)(2n + 1)

6

(n + 1)2

2

https://dl.doubtnut.com/l/_VvN1nqtY4IgP
https://dl.doubtnut.com/l/_LO4EVQ2pJkyJ


303. In an AP  then 

A. -1

B. 0

C. 1

D. 7

Answer:

Watch Video Solution

7a7 = 11a11 a18 = ……….

304. AM of 24 and 16 is ………….

A. 22

B. 19

C. 16

D. 20

https://dl.doubtnut.com/l/_Lnv9twHiBAea
https://dl.doubtnut.com/l/_h5JvFbhNv4ob


Answer:

Watch Video Solution

305. If a,b,c are in AP then 2b = ………….

A. A + c

B. a-c

C. 

D. 

Answer:

Watch Video Solution

a + c

2

a

2

306. The sum of first 40 positive intergers divisible by 6 is …………

A. 9420

https://dl.doubtnut.com/l/_h5JvFbhNv4ob
https://dl.doubtnut.com/l/_ZtdcNgCH8liW
https://dl.doubtnut.com/l/_m7WoRrJ2xJw0


B. 4920

C. 9920

D. 1290

Answer:

Watch Video Solution

307. 

A. 30

B. 10

C. 11

D. -11

Answer:

Watch Video Solution

an = 9 − 5n, a4 = ………….

https://dl.doubtnut.com/l/_m7WoRrJ2xJw0
https://dl.doubtnut.com/l/_tdmscs7Tmhub
https://dl.doubtnut.com/l/_srrdroHXfiND


308. In a GP,  then  = …………

A. 3072

B. 7032

C. 1032

D. 1100

Answer:

Watch Video Solution

a8 = 192, r = 2 a12

309. 2, -6, 18, -54, ………….r = ………….

A. -3

B. 3

C. 1

D. -2

https://dl.doubtnut.com/l/_srrdroHXfiND
https://dl.doubtnut.com/l/_yWPp7jtyIb2J


Answer:

Watch Video Solution

310. 5/2, 5/4, 5/8, …………  = …………….

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

an

5

2n− 1

5

2n

5

2n− 2

311. 

A. 

, − 2, , …………. . a5 = …………….
1

√2

8

√2

16√2

https://dl.doubtnut.com/l/_yWPp7jtyIb2J
https://dl.doubtnut.com/l/_9CNdAUyZJ07W
https://dl.doubtnut.com/l/_fbERYPHWC2Fl


B. 

C. 

D. 31

Answer:

Watch Video Solution

32√2

6√2

√2

312. 

A. -729

B. 729

C. 829

D. 114

Answer:

Watch Video Solution

3, − 32, 33, ………. a6 = …………. .

https://dl.doubtnut.com/l/_fbERYPHWC2Fl
https://dl.doubtnut.com/l/_FHAPhPGO2p5K
https://dl.doubtnut.com/l/_uf8XFCE8wpTT


313. In a G.P. 

A. -9

B. 9

C. -3

D. None

Answer:

Watch Video Solution

a = 81, r = − , a3 = ……….
1

3

314. In a G.P. 25, -5, 1, -1/5, ……..r = …….

A. 

B. 2

C. -1

D. 

−
3

5

−
1

5

https://dl.doubtnut.com/l/_uf8XFCE8wpTT
https://dl.doubtnut.com/l/_WJgSTRTDgTfp


Answer:

Watch Video Solution

315.  in A.P.=

A. 

B. 

C. 2n(a+l)

D. None

Answer:

Watch Video Solution

Sn

(a + l)
n

2

(a + l)
n

3

316. In AP , then a = …………..

A. 8

a12 = 37, d = 3

https://dl.doubtnut.com/l/_WJgSTRTDgTfp
https://dl.doubtnut.com/l/_thc6vUW6OdRE
https://dl.doubtnut.com/l/_0vl6LW41eCeE


B. -4

C. -3

D. 4

Answer:

Watch Video Solution

317. In the above problem =…

A. 246

B. 146

C. 123

D. 112

Answer:

Watch Video Solution

a5

https://dl.doubtnut.com/l/_0vl6LW41eCeE
https://dl.doubtnut.com/l/_NoWEHYSvomOX
https://dl.doubtnut.com/l/_eUtcpr1XJGnZ


318. ,…………. . Sum to 10 terms = ………….

A. 26.25

B. 16.25

C. 36.25

D. 46.25

Answer:

Watch Video Solution

−1, ,
1

4

3

2

319. Find the sums given below: 

(iii) 

A. -8930

B. 8930

C. 8390

D. none

−5 + ( − 8) + ( − 11) + …… + ( − 230)

https://dl.doubtnut.com/l/_eUtcpr1XJGnZ
https://dl.doubtnut.com/l/_21BAYfcxsFLs


Answer:

Watch Video Solution

320. Find the sum of : 

(i) The first 1000 positive intergers .

A. 500500

B. 50051

C. 8005

D. none

Answer:

Watch Video Solution

321.  terms = …….16 + 11 + 6 + ……….23

https://dl.doubtnut.com/l/_21BAYfcxsFLs
https://dl.doubtnut.com/l/_ZhEV3cVsLsH8
https://dl.doubtnut.com/l/_dvVPW9lrxnrj


A. 119

B. -987

C. 891

D. -897

Answer:

Watch Video Solution

322. Identify the number of 3 digit number that divisible by 7.

A. 126

B. 128

C. 122

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_dvVPW9lrxnrj
https://dl.doubtnut.com/l/_eoGMj312hFqb


323. In an AP  then  = …….

A. 3

B. 6

C. 1

D. -2

Answer:

Watch Video Solution

a1 = − 4, a6 = 6 a2

324. In the above problem =…

A. 4

B. -3

C. 6

a5

https://dl.doubtnut.com/l/_eoGMj312hFqb
https://dl.doubtnut.com/l/_W1J1ipSXyNae
https://dl.doubtnut.com/l/_RUfTgefDpCWd


D. -4

Answer:

Watch Video Solution

325. In the formula `a_(n) = 3.6, a = - 18.9, d = 2.5, n = ……………

A. 13

B. 12

C. 10

D. 20

Answer:

Watch Video Solution

326. 5, 1, -3, -7, ………. = ……………..a10

https://dl.doubtnut.com/l/_RUfTgefDpCWd
https://dl.doubtnut.com/l/_ZCgcZHmAK839
https://dl.doubtnut.com/l/_1bZR6BdIbPRH


A. -23

B. 22

C. 31

D. -31

Answer:

Watch Video Solution

327. , d = ……….

A. 

B. 

C. 2

D. -1

Answer:

Watch Video Solution

, , ,
1

4

−1

4

−3

4

−5

4

−1

2

1

2

https://dl.doubtnut.com/l/_1bZR6BdIbPRH
https://dl.doubtnut.com/l/_ZBqToX3mmhSd


328. If 4, x , 16 are in G.P. then x = ………..

A. 12

B. 16

C. 8

D. None

Answer:

Watch Video Solution

329. 

A. 

B. 

C. 

13 + 23 + 33 + ………. . + n3 = ………

n

2

(n + 1)
2

2

n(n + 1)

2

https://dl.doubtnut.com/l/_ZBqToX3mmhSd
https://dl.doubtnut.com/l/_vHRQ7A8bnsze
https://dl.doubtnut.com/l/_SBDkc693MkS5


D. 

Answer:

Watch Video Solution

n2(n + 1)
2

2

330. G.M. of a and b is ………….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

√ab

ab

2

a + b

2

331. G.M. of a and  is ……….
1

a

https://dl.doubtnut.com/l/_SBDkc693MkS5
https://dl.doubtnut.com/l/_2KUBfT6u0mWI
https://dl.doubtnut.com/l/_JA2xjx2JOF0G


A. -3

B. 1

C. 7

D. 8

Answer:

Watch Video Solution

332. Reciprocals of term of GP is ……….

A. AP

B. GP

C. HP

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JA2xjx2JOF0G
https://dl.doubtnut.com/l/_L3duXJxM6bNt


333. If a, b, c are in GP then 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

= ………….
b

a

c

b

b

c

1

b

334.  in GP = …………

A. ar

B. 

C. 

an

arn− 1

an− 1

https://dl.doubtnut.com/l/_L3duXJxM6bNt
https://dl.doubtnut.com/l/_mpZbED0oi27d
https://dl.doubtnut.com/l/_oBTbXLdpS6RH


D. 

Answer:

Watch Video Solution

rn− 1a

2

335. `1+1+1+…….+ n terms = ……….

A. 

B. n

C. 

D. none

Answer:

Watch Video Solution

n/2

n − 1

336. If a,b,c are in GP then b is called ………

https://dl.doubtnut.com/l/_oBTbXLdpS6RH
https://dl.doubtnut.com/l/_gIxgmPWdlrXX
https://dl.doubtnut.com/l/_JtViCN088I9s


A. Geometric mean

B. Arithmetic mean

C. Number

D. None

Answer:

Watch Video Solution

337. 

A. 100

B. 1001

C. 200

D. 80

Answer:

Watch Video Solution

∑n = 10, ∑n3 = ……………

https://dl.doubtnut.com/l/_JtViCN088I9s
https://dl.doubtnut.com/l/_w8LzawKCykDF


338. In a series  = .......

A. 41

B. 3

C. 4

D. 2

Answer:

Watch Video Solution

an = , a2
n(n + 1)

2

339. AM of 10 and 20 is …………

A. 12

B. 15

C. 25

https://dl.doubtnut.com/l/_w8LzawKCykDF
https://dl.doubtnut.com/l/_9fc2rdj7i2tg
https://dl.doubtnut.com/l/_Z6Dzc0cODw3J


D. 10

Answer:

Watch Video Solution

340.  then 

A. 1

B. 0

C. 2

D. 3

Answer:

Watch Video Solution

an = (n − 1)(n − 2) a2 = ……….

341. If a,b,c are in AP then b-a = …………..

https://dl.doubtnut.com/l/_Z6Dzc0cODw3J
https://dl.doubtnut.com/l/_z4B5ol3k7V3E
https://dl.doubtnut.com/l/_7aaZ5HhXSQsX


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

c + b

a + b

c − b

342. Find the values of x so that  are three consecutive terms

of a G.P.

A. 

B. 

C. 

D. 

Answer:

, x,
−2

7

−7
2

±1

±2

±3

±4

https://dl.doubtnut.com/l/_7aaZ5HhXSQsX
https://dl.doubtnut.com/l/_K0t5X04uKOlT


Watch Video Solution

343. GM of 5 and 125 is …………

A. 13

B. 16

C. 10

D. 25

Answer:

Watch Video Solution

344.  in AP = ………….

A. 

B. 

C. 

Sn

[2a + (n − 1)d]
n

2

[a + (n + 1)d]
n

2

n[2a + (n − 1)d]

https://dl.doubtnut.com/l/_K0t5X04uKOlT
https://dl.doubtnut.com/l/_F1WxgUsjoe8D
https://dl.doubtnut.com/l/_nBF7O0hgnhUw


D. none

Answer:

Watch Video Solution

345.  = ...........

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

an = , a3
1

n + 2

1/2

5/3

3/5

346. The nth term of a GP is , r = …………2(0.5)n− 1

https://dl.doubtnut.com/l/_nBF7O0hgnhUw
https://dl.doubtnut.com/l/_grvzs60KUwVm
https://dl.doubtnut.com/l/_nLZ0IXXyoDlA


A. -2

B. 

C. 2

D. -1

Answer:

Watch Video Solution

1/2

347. The common ratio of the GP 

`2, sqrt(8), 4, ………..is ……………….

A. 

B. 4

C. 3

D. 

Answer:

√3

√2

https://dl.doubtnut.com/l/_nLZ0IXXyoDlA
https://dl.doubtnut.com/l/_8jHPcodt3F3S


Watch Video Solution

348. a,b,c are in AP then  are in …………….

A. GP

B. HP

C. AP

D. none

Answer:

Watch Video Solution

3a, 3b, 3c

349. `2, 5/2, 3, ……….S_(25) = ………………

A. 110

B. 180

C. 100

https://dl.doubtnut.com/l/_8jHPcodt3F3S
https://dl.doubtnut.com/l/_DjzeWkJkzxP7
https://dl.doubtnut.com/l/_ujme05AXNBWr


D. none

Answer:

Watch Video Solution

350. AM of M, P, C is ………………

A. 

B. M - P - C

C. 

D. 

Answer:

Watch Video Solution

MPC

3

M + P + C

3

M + P − C

2

351.  = ........an = 2n, a5

https://dl.doubtnut.com/l/_ujme05AXNBWr
https://dl.doubtnut.com/l/_bHKFKrV1zHmO
https://dl.doubtnut.com/l/_n8V1JKy2D8Bo


A. 32

B. 23

C. 18

D. 13

Answer:

Watch Video Solution

352. AM of 5 and 95 is …………..

A. 105

B. 505

C. 501

D. 50

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_n8V1JKy2D8Bo
https://dl.doubtnut.com/l/_74iRjI4AW4X3


353. GM of  and = …………….

A. -7

B. 1

C. 3

D. none

Answer:

Watch Video Solution

x3 1

x3

354. 

A. 

B. 

C. 

n − 1, n − 2, n − 3, ……. . a10 = …………. .

n − 10

n − 9

n + 9

https://dl.doubtnut.com/l/_74iRjI4AW4X3
https://dl.doubtnut.com/l/_ZUGF9uWIX71Z
https://dl.doubtnut.com/l/_31Rd4IqYuK2C


D. 

Answer:

Watch Video Solution

n − 3

355. Product of n GM's between a and b is ………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(ab)n/ 2

(ab)n

a

b

an

b

356. If  is the AM of a and b then n = …………
an+ 1 + bn+ 1

an + bn

https://dl.doubtnut.com/l/_31Rd4IqYuK2C
https://dl.doubtnut.com/l/_VFfSdAzA2TJr
https://dl.doubtnut.com/l/_UobU8qiVmtMT


A. 

B. 1

C. 0

D. 4

Answer:

Watch Video Solution

−1

2

357. 7, 10, 13, .....,  = ..........

A. 19

B. 100

C. 131

D. 12

Answer:

Watch Video Solution

a5

https://dl.doubtnut.com/l/_UobU8qiVmtMT
https://dl.doubtnut.com/l/_C0VuBEEhD1mi


358. 22, 32, 42, .........,  = ...........

A. 81

B. 92

C. 69

D. 82

Answer:

Watch Video Solution

a7

359. 1, 4, 7, 10, ........, d = ..................

A. 13

B. 3

C. 4

https://dl.doubtnut.com/l/_C0VuBEEhD1mi
https://dl.doubtnut.com/l/_NO2dSrhvJfws
https://dl.doubtnut.com/l/_ozJwLBt4xGjj


D. none

Answer:

Watch Video Solution

360. In  then = ………….

A. 

B. 

C. 0

D. -1

Answer:

Watch Video Solution

APap = q, aq = p ap+q

q − p

p − q

361. Which term of AP 7+4+1+……….is -56 ?

https://dl.doubtnut.com/l/_ozJwLBt4xGjj
https://dl.doubtnut.com/l/_iIoFuCKOwDKX
https://dl.doubtnut.com/l/_SkjnXzreweRf


A. 22

B. 20

C. 18

D. 19

Answer:

Watch Video Solution

362. 1+6+4+9+7+12+………..to 40 terms

A. 20

B. 60

C. 90

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SkjnXzreweRf
https://dl.doubtnut.com/l/_MH61kU8zlwbK


363. AM of  and  is ……………..

A. 

B. 

C. x

D. 2x

Answer:

Watch Video Solution

x2 + y2 x2 − y2

x2

2

x2

364.  are in AP then  are in

........

A. HP

B. GP

C. AP

, ,
b + c − a

a

c + a − b

b

a + b − c

c
, ,

1

a

1

b

1

c

https://dl.doubtnut.com/l/_MH61kU8zlwbK
https://dl.doubtnut.com/l/_Ti0sKqaYa6NB
https://dl.doubtnut.com/l/_XYORetQzRsx5


D. None

Answer:

Watch Video Solution

365. If there are n AM's between a and b then d = ………………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

b − a

n + 1

b

n + 1

a − b

n

b

n + 2

366. 10, 100, 1000, …………, r = ……………

https://dl.doubtnut.com/l/_XYORetQzRsx5
https://dl.doubtnut.com/l/_0SsejB0TwDlU
https://dl.doubtnut.com/l/_vubslsKmwXlN


A. 12

B. 9

C. 8

D. 10

Answer:

Watch Video Solution

367. 

A. 3

B. 

C. 2

D. -1

Answer:

Watch Video Solution

1 + + + ………. , r = ……………….
1

2

1

22

1/2

https://dl.doubtnut.com/l/_vubslsKmwXlN
https://dl.doubtnut.com/l/_VvDOSf4N7ou7


368. 3, 6, 12, ......, r = ......

A. 1

B. 10

C. 3

D. none

Answer:

Watch Video Solution

369. 

A. a

B. 

C. 

a, a2, a3, ………. . , r = ……………….

a2

a3

https://dl.doubtnut.com/l/_VvDOSf4N7ou7
https://dl.doubtnut.com/l/_qc5Pl05H5kqb
https://dl.doubtnut.com/l/_YPYgCxneaqIB


D. none

Answer:

Watch Video Solution

370. a,b,c are in AP then  are in ………….

A. GP

B. AP

C. HP

D. none

Answer:

Watch Video Solution

, ,
1

a

1

b

1

c

371. GM of x, y, z is ………….

https://dl.doubtnut.com/l/_YPYgCxneaqIB
https://dl.doubtnut.com/l/_7CHYU4kZY5rM
https://dl.doubtnut.com/l/_eQ2p3u7WFDhD


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

xyz3

3√xyz

xyz

3

x + y + z

3

372. The nth term if a GP =  here 'r' means ........

A. common difference

B. common ratio

C. first term

D. radius

Answer:

Watch Video Solution

an = arn− 1

https://dl.doubtnut.com/l/_eQ2p3u7WFDhD
https://dl.doubtnut.com/l/_pxmrKhhjFcoE


373. The 'n' th term of an A.P. is  then the common difference

is ………..

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

an = 3 + 2n

374. The common difference of the AP  is ……….

A. x

B. y

C. -x

x − y, x, x + y

https://dl.doubtnut.com/l/_pxmrKhhjFcoE
https://dl.doubtnut.com/l/_y5n7XeRwA07i
https://dl.doubtnut.com/l/_0afc5hNa5YRR


D. -y

Answer:

Watch Video Solution

375. The common difference of the AP  is ………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2a − b, 4a − 3b, 6a − 5b

2a − 2b

a − b

2a − b

4a − 3b

376. In a GP  then r = …………..a1 = 20 and a4 = 540

https://dl.doubtnut.com/l/_0afc5hNa5YRR
https://dl.doubtnut.com/l/_SGTzsTTXq5qK
https://dl.doubtnut.com/l/_5cdKkSgaTC9y


A. 27

B. 3

C. 520

D. 18

Answer:

Watch Video Solution

377. Formula for sum of 'n' terms in an AP = …………..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Sumn =
n(n + l)

2

Sumn2 =
n2(n + l)(n + 2)

6

Sn = [2a + (n − 1)d] or Sn = [a + l]
n

2
n

2

an = a + (n − 1)d

https://dl.doubtnut.com/l/_5cdKkSgaTC9y
https://dl.doubtnut.com/l/_SSeLbLz7DOAC


378. In an AP , then  = ………..

A. 8

B. 10

C. 9

D. 7

Answer:

Watch Video Solution

an =
5n − 3

4
a7

https://dl.doubtnut.com/l/_SSeLbLz7DOAC
https://dl.doubtnut.com/l/_XksTKLq3dAN3

